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Average

Find the sum of first 35 Natural numbers.
TR 1 ¥ 35 T F WA wenel mAn e ?

(A) 665 (B)e30

(C) 595 (D) 632

Find the average of first 99 Natural numbers.
AR 1 B 99 TF it Wk weAsti # oftew fra € 2
(A) 50 (B) 51

(C) 49 (D) 49.5

Find the average of the first hundred natural
numbers?

HeH 100 T Sl & iEd 31

(A) 50.5 (B)38.6

(C) 50.8 (D)45.6

Find the average of first 50 even numbers?
WU 50 H9 GO w1 HiEd 3w |

(A) 51 (B)72

(C)46 (D) 49

Find the average of all even numbers upto 1007
100 Tk 1 F7 T Hensil w1 sirad = |

(A) 51 (B) 38.6

(C) 50.8 (D) 45.6

Find the average of all odd numbersuptoe 1007
100 1k =1 At foas Fensti w1 S5 i + |

(A) 51 (B) 50

(C) 46 (D) 49

The average of certain first consecutive even
number is 101, Find their sum.

T WH A T T s 101 ) s S e
Exd

(4) 10100
(C) 3460

(B) 3600

(D) 2496

The average of certain first consecutive odd
numbers is 60. Find their sum?

TS Ve TFER T TEmed 1 e 60 € | 3w A
Elckead
(4) 2551
(C) 3460

(B) 3600
(D) 2496

10.

11.

12,

13.

14.

15.

The average of first ten prime numbers is:
T 10 U A3 1 3 4 g 7

(A) 10.1 (B) 10

(C) 12.9 (D) 13

The average of all odd numbers less than 100
is :

100 % %\ Tt fm Temed o offwm #n g ?

(A) 49.5 (B) 50

(C) 50.5 (D) 51

Find the average of even' numbers 25 to 180.
D5 % 180 Tk o1 TH HEASAI % 3iEd 1 T ?

(A) 104 (B) 301

(C) 103 (D) 102

Find the average of odd numbers 25 to 180.
25 T 180 o ol faqH HE=Al 1 SiEd o7 20 ?

(A) 102 (B) 103

(C) 104 (D) 105

The sum of five consecutive numbers is 250.

Then find the product of the smallest and larg-
est number from these five numbers.

T SRR YT SEmedt A 250 € TEH wad ast 5o
o Y T T F [UAFA T HITI 7

(A) 2596 (B) 2496

(C) 2946 (D) 2694

The sum of four consecutive even numbers is
108. Find the product of the smallest and larg-
est numbers from these four numbers.

=R HANT 9 el &1 9 108 & 99 366 999 5@
T A oY T AT 1 IR [1T I 2

{A) 720 (B) 738

(C) 748 (D) 798

The sum of four odd consecutive numbers is

112, Find the sum of the smallest and largest
numbers from these four numbers.

=R ST TasH Senati w9 112 % a9 599 998 o
HAT & "ol o G =1 SRS AT Shifeg ?

(4) 54 (B) 53

(C) 58 (D) 56
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16.

17.

18.

19.

20.

21.

22,

Mother's &g = 374

Eight consecutive numbers are given. [f the av-
erage of the two numbers that appear in the
middle is &, then the sum of the eight given
numbers is:

3116 SHHITT HEATU 51 718 ¥ | |fg sit= § sufkera g1 west
=1 &9 8 B, i eTS Tl T WIS 7 L 2

(A) 54 (B) 64

{C) 36 (D) 48

A, B, C, D & E are five consecutive even num-

bers. Average of A and E is 46. What is the larg-
est number?

A, B, C, D =1 E W= 7R ¥1 910 § | A 997 E ofea
46 T | gAY =Sl HEA T H

(A) 532 (B) 42

{C) 50 (D) 48

The average of four consecutive even numbers
is 15. The 2nd highest number is:

TR ST T w1 i 15 ® | gH e et wen
7 L ?

(A) 12 (B) 18

(C) 14 (D) 16

The average of four consecutive even numbers
is 9. Find the largest number.

TR AT T e i oiem O ¥ | we Wt g 9|
7

(A) 12 (B) 6

(C) 8 (D) 10

If the average of 17/ consecutive even number
is 14. Findithe difference hetween first and last
number,

Tt 17 oHR ¥9 Sost w1 siad 14 8, @ ggol de
ST STl SR =0 31— e 2 7

{A) 30 (B) 36

({C)32 (D) 38

[fthe average of 7 consecutive even number is

44, Find the difference between first and last
number.

wfe 7 oK |1 13l ol i 44 2, °1 veel e 3R
TE HE = &R TR g ?

(A) 10 (B) 14

({C) 12 (D) 8

If the average of 116 consecutive even num-

beris 201. Find the sum of first and last num-
ber.

=g 116 oFAR &0 Senstt =1 &feg 201 €, 9 veoit g
Y i) | 6 =i faan g ?

(4) 403 (B) 400

(C) 404 (D) 402

23.

24.

25.

26.

27.

28.

The sum of three consecutive even numbers

is 28 more than the average of these three

numbers. Then the smallest of these three

numbers is

T TS T T i Wi 39w et F it ®

28 2T %1 37 T Tt § W wed 91 e a9y ?
SS8SC CGL Mains 2016

(A)6 (B) 12

(C) 14 (D) 16

The average of 7 consecutive numbers is 20.

The largest of these numbers is

7 SFHIT SIS 6 ST 20 F 1579 | Herd 98] HeA1 =

g7 SSC CGL Mains 2016
(A) 20 (B) 23
(€) 24 (D) 26

The average of five consecutive positive inte-

gers is n. If the next two integers are also in-

cluded, the average of all these integers will.

T AT ST YO 2 SEE n ¥ | A e < o

off et o Taw <Al = |t o =l siiga == g 7
88C CGL Mains 2015

(A) remains the same /3 21 &I

(Bpincrease by 1/ 1@ wmam

(C) increase by 22 qg =ImM

(D) increase by 1.5/ 1.5 9§ =W

The average of nine consecutive number is n.
If the next two numbers are also included the
new average will,

O AT Wl o 3t n § | 9fs STl 2 Fes & off
wefer o =iy, o1 == aiea 9 ol 7

(A) Increase by 2/ 2 Ft If5

(B) remain the same/ 3% ¥F

(C) increase by 1.5/ 1.5 Ft3fs

(D) increase by 1/ 1 =i gfs

The average of five consecutive positive inte-
gers is n. If the next five integers are also in-
cluded, the average of all these integers will—
T FAEE YAEE QO w1 e n § 1 AR e die
quiiek ot T = T S a1, 57 Fedt goierl =1 sitad 7
Trm 7

(A) increase by 2.5 / 2.5 &t gfs

(B) remains the same / 39 T\ 1

(C) increase by 1.5 / 1.5 = 35

(D) increase by 2 / 2 :t a5

Average of 7 consecutive number is 83. If the
pervious and next number to these 7 number
are also included then what will be the new
average.

HEAD OFFICE : J-7. Hmmat Nagar. In front of BIG Bazar, Gopalpura Pulia, Jaipur-302018
0141-27114689, +91-7073909991 | www.motherseducdationhub.org



29.

30.

31.

32.

33.

Mother's Arithmetic = Average

7 TFATTE WA = ST 83 ¥ Ate 39 7 wemeT wt gt
ST STedt W i oft Thren T =, | =it ofree = e ?
(A) 83 (B) 82
(C) 85 (D) 89

Average of 7 consecutive Even numberis 52. If
the and next two even number to these 7 Even
number are also included then what will be the
new average.

7 TS T wEmed # oien 52 AT 7 wm et wt
el o1 el 5t w9 we =1+t fqer foran <9, 1 =0

froa = B 2
(A) 51 (B) 52
(C) 54 (D) 53

Average of 7 consecutive odd number is 31. If
the pervious and next odd number to the 7 odd
number are also included then what will be the
new average.

7 T T wensdi = oirem 31 % 9f e 7 favm vt
o1 el 3 et form sen =1 ot fen foran <, 1 =0

ST == 2 ?
(A) 33 (B) 31
(C) 35 (D) 29

The average of 5 numbers is -5. If sum of 3
numbers is 15, then what is the average of
other 2 numbers?

i el o SEd -5 g FgETs 9 di Ses e
15 =, 9 9 =t wemst w0 S| g 2

(A)-20 (B) -8

(C) 8 (D) 20

If the average of 4 numbers a, b, ¢ and d is A,

3
then find the average of a, b, ¢, d and ??

3A
It =R EENET a, b, ¢, dMEFTTAT A a, b, c, d, >
1 STHA AT
A A - A c Y b 114
(A) 7 (B) (€) 7 (D) 10

The average of five members is 7. If there are
three new members would be added, then the
new average comes out to be 8.5, What is the
average of those three new number?

T SiEd 8.5 71 S g | I A4 A2 el w sied

e ?
(A)9 (B) 10.5
(C) 11 (D) 11.5

34.

35.

36.

37.

38.

39,

The average of 10 numbers is 7. If each num-
ber is multiplied by 12, then the average of the
new set of numbers will he—

=W sl W o 7 § ) fe T e w12 |
T < &, T TR O Wenst i efa e g 2
(A) 7 (B) 19

(C) 84 (D) 64

Average of 37 number is 323. if each number
Divide by 19 then find new average.

37 wemsi = A 323 ¥, afe yerm wen w19 9§
TrefSTa foman =11, o =/ fi9a 9 = 7

(A) 27 (B) 17
(C) 21 (D) 16
[f average of 20 observation X, X, ... X, 18y,

then the average of x -101, Xg-ldl, x,-101, is:
g 20 Baoy X, X, .‘.‘.xw’ﬂaﬁ'ﬂﬁy@, T'ﬁxl—l()l, X,
-101, x,-101,.......x,,- LO | /1 &Trem grm—

(A)y-20 (B) y-101

(C) 20y (D) 101y

Find the average of first 20 multiples of 37
8 AT 20 O T ST [ F |

(A) 30.2 (B)31.5

(C) 40.3 (D) 20.2

What is the average of the first eighteen (posi-
tive] odd number each of which is divisible by
72

o9 18 T Senal o siga 9 L, foad vemn gen 7

4 famfam =t ?
(A) 56 (B) 126
(C) 147 (D) 149

The average of 5 consective integers starting
with 'ad'is n. What is the average of 6 consective
integers starting with (a + 2)?

5 FAFA WeAst 1 oiwn W g W I gt §, nd1 6
SFHTT A3 o S 7 A, Sl (a+ 2) S IRG g |

2n+5
(a) = (B) (n +2)
(C) (n+3) (D) none

The average of x numbers is y? and the aver-
age of y numbers is x°. Find the average of all
the numbers taken together.

X Al o STEd y2 SR y Hemsi o o x2 ¥ 1=t g

XJ +y3 X'2 +y2

B oy B @ oy Dy

Study Center : Delhi (NCR) * Mukharjee Nagar « Alwar
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41.

42,

43.

44,

43.

47.

Mother's &g = 374

Average of 50 numbers is 38. If two numbers
45 and 55 are removed then find the average
of rest numbers.

50 st o sitga 38 % 1 =ife 3 HEml 45 S 55 T
STE, T TE TS = ST e 2

(A) 36 (B)37.5

(C) 36.5 (D) 39

The average of six numbers is 32. If each of
the first three numbers is increased by 2 and
each of the remaining three numbers is de-
creased by 4, then find the new average.

T TEmell # o 32 T TR T Tt 17 He 2
T E | ST I 3 W 4§ et E o s

T ?
(A) 30 (B) 31
(C) 32 (D) 33

The average of x numbersis 3x. If (x -1) is sub-
tracted from each given number, what will be
the new average ?

X st = ofr e 3x &, SR e ¥en d & (x - 1 )y9=rmn

S A = S = e 2
(A)x+3 (B) 2x + 1
(C)2x -1 (D) 2x + 3

If the average of 5 consecutive integers'is x
then, find the average of next to next 9 con=
secutive integer.

AfE 5 AT T A x €, G 9T T 5 wAr

U] T ST T
(A)x+5 (B)x+15
(C) x + 10 (D) x + 20

The average of the five consecutive odd num-
bers is k. If the next three odd numbhers are
added then the new average will exceed the old
average by—

oi= ST TR et 2 aitem k¥ 1At et i firm
HeATy SISt Sl &, o 714 siied A siiea € e stfees
7 ?

(A) 2 (B) 3

(C) 4 (D)5

The average of the largest and smallest 3 digit
numbers formed by Q, 2 and 4 would he :

0, 2 i 4 30 Tt Jeww ok LT 3 FF wETSA W

i = B ? SSC CGL Mains 2014
(A4) 213 (B) 303
(C) 312 (D) 222

If the average of eight consecutive even num-
bers he 93, then the greatest number among
them is :

18.

19,

50.

51.

52.

S53.

54.

i 376 STshfaek 99 e & 7w 93 ¥, 9l =T geuH

T #4127 SSC CGL Mains 2014
(A) 86 (B) 98
(C) 100 (D) 102

The average of all the numbers between 6 and
50 which are divisible by 5 is—
6 T 50 3 ot wft TEnst = ofea T =, W 5 € e

TETE ?
(A) 27.5 (B) 30
(C) 28.5 (D) 22

The average of 8 numbers is 27. If each of the
numbers is multiplied by 8, find the average of
new set of numbers.

8 wEmET = ofed 27 ¥ | I TeIE TR & T I F
T T | Heenail =h1 = 3iHd = W |

(A) 1128 (B) 038

(C)316 (D)216

Find the sum of squares of first 20 Natural num-
bhers.

TR 1 T/20 % 1 Tha STl 26 Sl 6l =171 947 5T
?

(A) 2780 (B) 2870

(C) 2870 (D) 2550

Find the average of square of first 10 Natural
numbers.

TAR 1 10 TF Tt WrFa wemstt & ot =1 ofem 7
v

(A) 38.5 (B) 39

(C) 39.5 (D) 55

Find the sum of squares of even numbers be-
tween 1 to 8 Natural numbers.

TR | | 8 T 1 7 Wenei & 3 A0 = e ?

(A) 128 (B) 120

(C) 138 (D) 130

Find the sum of squares of odd numbers from 1
to 8 Natural numbers.

TAR 1 ¥ 8 T = a9 Teamet & = =1 A0 FMEAT 2

(A) 84 (B) 48

(C) 64 (Dy74

Find average

1,22 3,334,444 ... 7.7.7,7,7,7.7.
A 7

1,2,2 3,3.3 4444 v 7.7.7,7,7,7.7.
(A) 28 (B) 5

(C)20 (D) 140

HEAD OFFICE : J-7. Hmmat Nagar. In front of BIG Bazar, Gopalpura Pulia, Jaipur-302018
0141-27114689, +91-7073909991 | www.motherseducdationhub.org



55.

S57.

58.

59.

Mother's Arithmetic = Average

Find sum of cubes of first 8 Natural numbers.
TR 1 ¥ 8 T i Uha SEAsT! o 51 o1 90 F g 2
(A) 1296 (B) 1728

(C) 1442 (D) 1926

Find the average of cubes of first 7 Natural num-
hers.

TR 1 § 7 Tk 1 qpd Sesti & A 1 3 #
w2

(A) 28 (B) 112

(€) 124 (D) 136
Find average

PP+224 354 100¢

1P+ 22+ 3%+ 1007

(A) 245025 (B) 255025
(C) 265025 (D) 250025

Find the average of cube of even numbers be-
tween 1 to 8 Natural numbers.

AN 1 9 8 ok ol |9 SIS 3 541 ol 316 #1187
(A) 200 (B) 400
(C) 600 (D) 800

Find the average of cube of odd numbersfrom 1
to 8 Natural numbers.

AN 1 9 & 56 20! oA Seiedl o =1 3l Sidd 9= 20
?

(A) 496
(C) 242

(B) 124
(D) 946
Arya Raj was asked to find the average of N con-
secutive natural numbers starting from 1. By

mistake, he added a number twice but he didn't
notice it. As.aresult, he obtained a wrong av-

4
erage of 25 5 Find the number he added twice.

T TS 1 1 T YE B A N TR W Seme #5
3 g % foTu et = 3, ol | 9% Uk S o S

= o) 4 =
AR WS Tt ¥ | qivmTeEET W Mo s 255 T T
¥, O o e wa = S o we T 2

(A) 10 (B) 14
(C) 12 (D) 15

61.

62.

63.

64.

Arva Raj was asked to find the average of N con-
secutive natural numbers starting from 1. By
mistake, he forgot a number. As a result, he

7
obtained a wrong average of 35ﬁ. So which

number he forgot?

3T U9 1 1§ I B =1ell N SaR i fae St
st ge o Toru s =T ¥, ol ¥ 9 Wk S o
T | Uit 9 Ted siEa 35% T g, 1 9%
FRF-H TEAT 47 T ?

(A) 4 (B) 3

(€5 (D)7

A cricketer makes some runs in 15 innings.
He makes 85 runs in sixteenth inning and by
this, his average runs exceed by 3. What is the
average of his runs after sixteenth inning?
fhehe o T Faeei =1 15 il #5950 aad n65 1 99 +
T 85 T T AT TER T ST T AT T 8 & W
siferes g1 5 | 1691 91 ok 9Tg TSl & S W HeE

Tepat & 2
(A) 37 (B) 40
(C) 43 (D) 45

Sachin Tendulkar has a certain average for 11
innings. In the 12th innings he score 120 runs
and thereby increase his average by 5 runs.
His new average is :

e AT A 11 TS P efma g 129 Wi o 9w
120 T =ran %, fored s ofHd 5 T =% STl € | 95

T i T w2
(A) 60 (B) 62
(C) 65 (D) 66

A batsman has certain average of runs in 11
innings. He made 90 runs in 12th inning. As a
result of which the average of his runs de-
creased by 5. What is the average of his runs
after 12th inning?

T wear 1 11 e # W g sima ) 129 i H
FHH O0 T o 515 Foreed 36 Tl % 35 5 % Bl
T 12T TR % =1 29k i s #

(4) 140 (B) 145

(C) 150 (D) 145.5

A Cricket player scored 35 runs in his 28" in-

ning and his average dec. by 0.5 runs. Find av-
erage of 27 innings.

W TEergl s191 284 9 § 35 W o1 ¥ | SHh A9
H 0.5 T F=H o Wt | 27 9 = ofem 9wl

(C) 49 (D) 74

Study Center : Delhi (NCR) * Mukharjee Nagar « Alwar
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67.

68.

69,

70.

71.

Mother's &g = 374

A batsman has a certain average of runs for 12
innings. In the 13th inning he scores 96 runs
thereby increasing his average by 5 runs. What
will be his average after 13th inning?
T oeeTer = 12 Wi = ue fAfvem it &1 13-
I H 97 96 T o § | T e o H 5 W W atE
T O E | 13- TRY ¥ A SEe S 40w ?

SSC CGL Mains 2016
(A) 28 (B) 32
{C) 36 (D) 42
A Cricket plaver scored in his 4 innings resp.
80, 58, 50, 60. How much he should score in
his 5th inning so, that average become 70.
W Paengt =17 4 il | e 80, 58, 50, 60 ™
5Tl & | =g Taenst 54t 7R’ o T T 9 SR 5

=i S5 70 T gl =g |
(A) 50 (B) 102
(C) 60 (D) 74

A Cricket player scored 32, 38, 26, 41 in his 4
innings. How much average score he should
score in his next 3 innings so, that average
become 50.

F faenst ot 4 miiE ¥ w32, 38, 26, 41 W
T E | STOHT ST 3 Wi H AR T A @i eTem

50 B =
(A) 250 (B) 213
(C) 160 (D) 174

Average score of a Cricket player of his 13 in-
nings is 55. He scored 97 in his 14" inning.
Find new average.

13 i =1 9ff8E 55 1 ¢ | 96 faenet 149 980 E 07 &

o B A S e
(A) B0 (B) 52
(C) 60 (D) 58

The average runs of a cricket player of 8§ in-
nings was 32. How many runs must he score
in his next innings so as to increase his aver-
age by Smuns ?

forelt forhe faest 1 8 wifell & sifma w32 T 1 s
T A 38 e T s =iy s a5 W E g

Sy
(A) 76 (B) 77
(C) 75 (D) 72

The average runs of a cricket player of 10 in-
nings was 32. How many runs must he score
in his next inning so as to increase his aver
age ofrunshy 4 ?

T2,

73.

74.

75.

76.

el Torre Taemet =1 10 MRS | offem 32 T8 | o1t
IRt A =g T T a1 56 Sa sitad 4 T 9 9g S|
(A) 50 (B) 76

(C)60 (D) 74

Average of a Cricket player was 38. He scored
83 in his next innings and average hecomes
43 runs. Find the total no. of innings.

e faerst =it siaa 38 T % 1 918 3191 sPrel vRi 9 83 W
T ¥ | o1 AT 43 T T I e W H e e

|
(A)8 (B) 5
(©) 9 (D)7

A Cricket player scored certain runs in his 23
innings. He scored 225 runs together in 24%
and 25" innings and average ines by 3 runs.
Find average of 23 innings.

T faeret 23 T # 3 T wa 8T 2497 ST
254 I H o 225 3 FF R A9d H 3 WA g 7
T 23 WIEAT = STTEa T

(A)75 (B) 32

(C)60 (D) 74

A Cricket player.scored certain runs in his 20
innings. He scored 300 runs together in 21%
and 22" innings and average of 20 and 22 in-
nings.

e fgeres 20 7@ § Fo W a1 §1 st 214 sin
227 T H Tt 300 T 79 T S H 2 TR afn w
TS | 2091 |7 2297 T o STE e = |

(A) 128: 130 (B) 152: 133

(C) 160 : 162 (D) 174 : 176

Average of a cricket player in 20 innings was
20. He scored 41 in his 21" innings. How many

runs should he scored in 22°¢ inning so that
average increase by 2 runs.

e gl =t 20 Tt = ofrm 20 § o ot 2 19 it
H 41 o= 2 1 2297 i H o T oG a1 &figa |

H 2 =1 gfg 7l Sy
(A) 50 (B) 65
(C) 60 (D) 74

Average score of a Cricket player in his 11 in-
nings is 60. In next inning he score '0' run find
his new average.

T Taenst % 11 e = offm ™ 60 98 faenst st
I H 0" T I | SR 4T 319 7

(A) 50 (B) 55

(C)y60 (D) 74

HEAD OFFICE : J-7. Hmmat Nagar. In front of BIG Bazar, Gopalpura Pulia, Jaipur-302018
0141-27114689, +91-7073909991 | www.motherseducdationhub.org



Mother's Arithmetic = Average

77. A batsman has an average of 50 runs in his 12

78.

79.

80.

innings. The difference between his maximum
and minimum score is 110. I[f these two innings
are removed his average for 10 innings comes
down to 45. What is his maximum score ?
Tt s = 12 Wi # oftem T 50 ¥ | 5ok wifbemas
TN =GAdH S T % s AW 110 ¥ 9fE 5w
wiEl 1 ger fean s 7 a1 10 wfEr & faw swe i
45 B ¥ | 5 5T A T AT T e |

(A) 150 (B) 130

(C) 160 (D) 110

The batting average for 40 innings of a cricket
plaver is 50 runs. His highest score exceeds
his lowest score by 172 runs. If these two in-
nings are excluded, the average of the remain-
ing 38 innings is 48 runs. The highest score of
the plaver is

et fiRe o Taerst 1 40 Wl # Aerarst = $im 50
T ¥ | SHH SAferkan ThN S8 FAaaH R 8 172 T
sAfom & =fs 57 <1 Wil =1 enfie 7 Fren o < §i 38
M 1 &a 48 T 79 & | Toenst = otfemran TR

AT 2 $SC CGL Mains 2016
(A) 165 (B) 170
(C) 172 (D) 174

A bhatsman has an average of 30 runs in his 42
innings. The difference between his maximum
and minimum score is 100. If these two innings
are removed his average for ihnings comes down
to 28. What is his maximum score ?

Tt oeaTT i1 4.2 W H ST T 30 T SHE stfemma
T =GAAH S TR % S ] SAed 100 T4 59 9
o = g feen <y 2 A 40 i w e swen sfiga T
28 B T | 5 I A T SAfereT T W |

(A) 120 (B) 130

(C) 120 (D) 140

If the average of 64 innings of a batsman is 62.
If highest and lowest innings are excluded then
the average of remaining 62 innings is 60. If
the difference hetween highest and lowest in-

nings is 180 runs. Find his highest and lowest
score.

Tt weoraT H 64 WG F SiET 62 ¥ 1 o T
STrRaR TR = T TR S O A 9w 62 W
3 60 F | Sifeeas o, s 90 9 180 WA E, @
O SAferhad ST =IAas U g ?

(A) 216, 32 (B) 218, 30

(C) 214, 34 (D) 220, 28

81.

82,

83.

84.

85.

The highest score in an innings was — of the

of the

Wi O

total score and the next highest was

remainder. These scores differ by 8 runs. What
was the total scores in the innings ?

r 2 L
Tepit weF T o1 WA O e T A o | G W e

vﬁﬁwvﬁmg ANV ST T H 8 T 1 STat €, Il H 5o
LG e I

(A) 152 (B) 162

(C) 142 (D) 172

A Cricketer player scored 50 in his 1* innings
and 52 in 2nd innings. How ‘much sheould he
score in his 3rd innings to get average of 60 in
3 innings.

T Aeerars TEet 9ik H 50 R gEd i H 52 T 7
=\ <fiE T e < S Tk <= 9w sfied 60 g

S
(A) 50 (B) 52
(C) 60 (D) 78

In a 20 over match, the required run rate to
win is 7.2 per over. If the run rate is 6 at the
end of the 15% over. the required run rate to
win the match is :

20 SR % 9 9 Siiq % faw 7.2 T 1 wfq i) =@
7fg 153 3iAT & 3fd & 9 W@ © 6 71, a1 i % ford
MEFEF T 42 1T L 7

(A) 1.2 (B) 13.2

(C) 10.8 (D) 12

The average weight of 50 balls is 5 gm. If the
weight of the bag be included the average weight
increase by 0.05 gm. What is the weight of the
bag ingms ?

7fg 50 T & 9a # IR 5 7MW 7| Afg e s ar o
e H wrer o € A o A 0.05 T i uga gt
¥ 1 Fem R H T\

(A) 5.05 (B) 6.05

(C) 7.05 (D) 7.55

A batsman's runs just before the last match of
the season, adds up to 750. In his last two in-
nings, he scores only 6 runs, and his average
drops by 2. Find his final average of the sea-
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87.

88.

89.

Mother's &g = 374

U Fociars dier % SAfaq #9% Tgdl T W § 750 W
T € | 9% sifam & mite | Fae 6 WA § o s
sirEd 2 8 1 1 2 | 91 39 Hier w1 Sfaw sired
T ?

(A) 25 (B) 24 )28 (D)23

A batsman has scored an average of 46 runs
for a certain number of innings played in En-
gland. When he came back to India, he played
another two test matches of two innings each
and scored at an average of 55 runs For the
innings in England and in India taken together,
he has improved his average by 2 runs over
the matches played in England. The number of
innings played in England was.

TF AEA 5 TS § Bt T g e i =
39T 46 T & 99 9% R A799 311 § G198 ToE o IR
o T e ST € SR 3iiEd 55 W §FW E | 3R s
ST I F AT R S H A IS e M A 2
T 1 G 2] S € o SE siiEd H# veivs § del
AT = T off ?

() B) © (O

In the first 10 overs of a cricket game, the run
rate was only 3.2. The run rate in the remain-
ing 40 overs to reach the target of 282 ruans is
forane 3 forddt B & 92d 10 sl 9 -2 3.2 91 3.
40 i | = T-1E B e TF 282 T % T8 T

g ST H ? SSC CGL Mains 2016
(A) 6.4 (B)6.3
(C)6.25 (D) 6.5

The bowling average of a bowleris 12.4. He took
5 wickets for 26 runs in his last match then
his‘average improves by 0.4. Find the number
of wickets before last match.

W dieaTst = i Sl 12,4 gAdfm = 3 st
26 AR 5 e Tt g TR S9! anter sftem 5 0.4
YR 7 9 &, W AT HE S e 39 fea o ol
g7

(A) Q0 (B) 87

{C) 85 (D) 92

The bowling average of a howler is 12.4. He took
S wickets for 26 runs in his last match then
his average improves by 0.2. Find the number
of wickets before last match.

W TSt w1 g 12.4 8| Sfaw = 3 st
26 T T 5 Torke Tt § TR St anterm sftem H 0.2
FURE S, 9 it e et T e P e 42
(A) 175 (B) 180

(C) 178 (D) 160

920,

91.

92,

93.

A bowler whose bowling average is 24.85 runs
per wicket, takes 5 wickets for 52 runs in next
innings and thereby decreases his average by
0.85. Find the number of wickets before last
match.

ok Tomehex foremt Tiearstt aiigd 24.85 W wia fae 2 1
STl IRT | o7 Yedick 52 T 5 faeke o ¥ | ek s
SEH T 0.85 HH 21 9l ¥ | ifaw o9 ¥ Tgel 59

T e fam &2
(A) 70 (B) 90
(C) 80 (D) 60

The bowling average of a bowler in certain
match is 27 runs per wicket. If he takes 6 wick-
ets for 60 runs in his next innings then its howl-
ing average becomes 25 runs per wicket. Find
the wickets taken by him till lastinning.

Tt T = SfT 27 T 0 e ® | 9% 9% ovet IRt
H 60 T e 6 fane o 8 1 8% T saer siaa 25 @

Ead
(A) 50 (B) 51
(C) 45 (D) 42

The average weight A, B, C and D is 40 kg. A
new person E is‘also included in the group, then
the average weight of the group is increased
by 1 kg Again a new person F replaces A, then
the new average of 5 persons becomes 42. Find
the average weight of B, C, D, F.

A, B, C, D @1 siigd 7o 40 fem 2 1 9fg E = wifaet e
o d1 3itaa s 1 T 5 = ¥ 3fs A i svg F o
TR 311 S 1 v At = e 42 T g s
%1B, C, D &R F %1 &¥a =7 o 2

(A) 42.25 (B) 42.75

(C)41.25 (D) 41.75

The average weight of 3 men A, B and C is 84
kg. Another man D joins the group and the av-
erage now becomes 80 kg. If another man E,
whose weight is 3 kg more than that of D, re-

places A, then average weight of B, C, Dand E
hecomes 79 kg. The weight of A is.

3 =ifH A, B, C 1 31i5d =M 84 T % | =1fg D =1 ot
et = forar s 61 3fied o= 80 fem 21 s 2 1 afe B
SraeRt o/, D % A= 4 3 oo samer 2, =9 A 1 9
wMite #2 % | B, C, D @R E = &item aem 79 fEm e
T, WA T A FME D
(A) 77

(C) 76

(B) 75
(D) 78
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Mother's Arithmetic = Average

94, The average weight of 4 men A, B, C and D is

93.

97.

67 kg Another man E joins the group and the
average now becomes 65 kg, If another man F,
whose weight is 4 kg more than that of E, re-
places A, then average weight of B, C, D, Eand
F becomes 64 kg. The weight of A is.

4 =if A, B, C, D o1 aiied a5 67 & 1 =g E =i off
wnfrer =2 foren o ofee e 65 frn et s d Atk A
&I STTE F Rl ©iwht 311 ST 318 F o oo, E o @ 9 4
s R, @ B, C, D, E #iR F = oftwa oo 64 f/=m
Bl ST, a1 A ol FSH T ?

(A) 64 (B) 68

([C)66 (D) 62

The average weight of A, B and Cis 64 kgs. IfD
joins, the average weight new is 60 kgs. If an-
other person E who is 5 kgs heavier than D
replaces A then the average weight of B, C, D
and E become 59 kgs. What is the weight of A?
A, B 7= C =1 ofrer 7om 64 T & 1 =f% D ot ot €
F i 31 31 7o 60 A TR, €1 =it ¥ 1 9ft ww g
=it E formem o D & 5 fn. eiferw € A =i wftwentoa
FTk G § T ¥ Al B, C, D a1 E i 37wa 31g 59 99
B 1A T AR T E

(A) 50 kg (B) 53 kg

(C) 55 kg (D) 57kg

The average weight of 5men A, B, C, Dand E is
94 kg. Another man F joins the group and the
average now becomes 96 kg, Weight of E is 6
kg less than of weight F. Now A is replaced by G
than the average weight becomes 98 kg. Find
the difference the weight of A and.G.

5=t A, B, C, D 3R E =1 siiad @9 94 fan g 1 9ig F
I TS L o a7 3% 96 Tk 31 ST % | B 1 &5, F
F o T 6 R FAE | TE AR G SN IE w1 i
A5 98 TR ZISiaT € | A 3T G 3 5ot H e sfat & ?
(A) 10 (B) 16

cyiz (D) 14

Average weight of 25 students of a class is 50
kg. If the weight of the class teacher is included,
the average is increased by 1 kg. The weight of
the teacher is ?

Tt e # 25 Faenfsf=r F WA oftwm 50 . €19
STETeR w1 YR T |l fen =i, a1 sfea W) 1 T
WE AT | STEATTR 1 9T TS 7

(A) 76 kg (Bl 77 kg

(C)74 kg (D) 75 kg

98,

99,

100.

101.

102,

The average weight of 24 students is 35 kgs. If
the weight of teacher is added the average in-
creased by 400 gms. What is the weight of the
teacher ?

24 T T ofEE R 35 T, ® 1 37 fier & ymw Sie
fear < it sifed TR § 400 7w #i g gt 3 | faes =
TRRE ?

(A) 45 (B) 36

(C) 54 (D)63

The average weight of 8 persons is increased
by 2.5 kg when one of them whose weight 56
kg is replaced by a new man. The weight of the
new man is ?

=fg 8 =farai =1 efm YR 2.5 fRa. 98 sTa g = 9
T At T TR 56 fFm. § =1 a1 7 oF o =
w1 et foba =imar & | T2 =9 o 9R T sk

(A).76 kg (B) 72 kg

(C) 75 kg (D) 80 kg

The average’/ weight of five persons sitting in a
boat.is 38 kg. The average weight of the boat
and the persons sitting in the boat is 52 kg.
What is the weight/of the boat ?

=@ ¥ WS 9 FAfRE 1 oirea T 38 TRl & 1 @ aqen
e H oS ST w1 S weE 52 fedll ¥ 1 e # ge

T &L ?
(A) 228 kg (B) 122 kg
(C) 232 kg (D) 242 kg

The average weight of 34 students is 31 kgs. If
the weight of teacher is added the average
weight increased by 1000/7 gms. What is the
weight of teacher ?

forelt s # 34 o1 o 3iigd ww 31 . ¥ 1 =fe fres
R =l e T e A o we ¥ 1000/ 7 T # ghE
BT | Torers 1 A i 5 2

(A) 35 (B) 36

(C) 37 (D) 42

In a 20 over match, the required run rate to
win 9.4 per over. If the run rate is 7 at the end
of the 15* over. The required run rate to win
the match is

20 &9 % 9 # oA F 71 9.4 T wia oo sftem
=gy | afg 159 3T % 3d | S T2 7 g1, 1 Siid o

T erErvE T 3= 9m AL
(A) 16 (B) 17.6
(C) 16.6 (D) 20
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103.

104.

105.

106.

107.

Mother's &g = 374

The average of 8§ numbers is 20. From these 8
numbers, the average of first 3 numbers is 15
and next 2 numbers is 25, If sixth number is 4
less than that of seventh number and 7 less
than that of eighth number, then what is the
last number?

8 Gl o SMEd 20 B 579 9 WAH i1 o 3= 15 qen
SIS &1 FEAEAl 1 SiEd 25 ¥ | 9fs wet de e ¥ 4
HH a1 B9 Y 7 4, A1 SAlaH S =g ?

(&) 25 (B) 18

(©) 21 (D) 27

The average of 8 numbers is 20. The average

1
of first two numbersis 15 E and that of the next

1
three is 21 3 If the sixth number be less than

the seventh and eight numbers by 4 and 7 re-
spectively, then the eighth number is:

SE@IaﬁaﬂaWQO%’maﬁaTwaﬁaﬂamﬁwa

- o - e 3 1 % - fa +
3T 37Tl 911 &=l =hl ST 215 % | Afg B3 T,

7 S 81 T A A 4 317 %4 €, 1 891 e @

g2
(A) 18 (B) 22
(C) 25 (D) 27

The average of 11 numbers is 10.8, If the aver-
age of first 6 numbers is 10.4/and the average
of last 6_sdumbers is 11.5. Then find out the
middle (6% number?

11 FemsTi # siwa 10.8 313t vae 6 St =1 o
10.4 iR eniEd 6 Senst =@ i 115 %1 a7 == =it

e (39) & 2
(A) 10.3 (B) 12.6
(C) 13.5 (D) 15.5

The average of 20 numbers is 12. If the aver-
age of first 12 numbers is 11 and the average
of next 7 numbers is 10. Then find out the last
number?

20 weEmst # ofm 12 ¥ 1 Teelt 12 Temed = ofwm 11
2T T 7 HEARA 1 e 10 ¥ | 3ifaq e g ?
(A) 40 (B) 38

(C) 48 (D) 50

If the average weight of 6 students is 50 kg,
that of 2 students is 51 kg, and that of 2 stu-

dents is 55 kg, then the average weight of all
ten students ig ?

108.

109,

110.

111.

112,

Afe 6 = = rEa v 50 . 2 awr 2 =l = i
R 51 T, & 921 2 o150 o6 SE ¥R 55 e, & q1 wi

10 =3 = i v I = 2
(A) 61 kg (B) 51.5 kg
(C) 52 kg (D) 51.2 kg

The mean of 19 numbersis 111, [f the mean of
first 10 numbers is 82 and that of the last 10
numbers is 129. Find the 10th number.

19 Hesti o 3i|d 111 7 1 afs wee 10 S & fwq
82 %1 a= Afad 10 Hes| & #rEa 129 =0, a1 104
sl 1 sad 129 g1, 91 10@ He 71 7

(A) O (B) 82

1 (D)2

The mean of 11 numbersis 182, [f the mean of

first 6 numbers is 199 that of theé last 6 num-
bersis 161, Find the sixth number.

11 SesT = oirem 182 2ia 798 6 \ensT = siiva
199 B au «fam 6. SEmeT = g 161 B, a1 D24

T A 2
(A) 79 (B) 118.5
(C).158 (D) 237

The average expenditure of a man for the first
five months of a year 1s ¥ 5000 and for the next
seven 102300 during the year. His average
monthly expenditure is :

ek SR =h1 WUH W= HIE =1 3119 =19 T 5000 91 37T
7 TTE = &7 = T 2300 § | 59 sia AT = 9
w2

(A) 3975 (B) 4536

(C) 3425 (D) 2875

The average of 8 readings is 24.3. Out of which
the average of first two is 18.5 and that of next
three is 21.2. [f the sixth reading is 3 less than
seventh and 4 more than eight, what is the
sixth reading?

8 Tftoms = aftem 24,3 | Foem & vt G = oftem 18.5
SR ST A= 31 21.2 § | 57 21 9, 73 | 3 F. o7
84 4 4 <=1 &, b1 wer uiiurd o= g ?

(A) 35.2 (B)32.6

(C) 31.6 (D) 34.2

In a certain year the average monthly income
of a person was ¥ 3400. For the first eight
months of the year, his average monthly in-
come was ¥ 3160 and for the last five months,
It was ¥ 4120, His income in the eighth month
of the year was
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113.

114.

115.

116.

Mother's Arithmetic = Average

fopelt =1 wan s=fam =i 3irEm AiTeR 31 T 3400 o | 39 &l
% UAH & HEAT | S g JifeR a9 T 3160 ql
STH 5 AR B SHE N 77 F a4 120 o199

T o100 HE H SEE & of ?
(A) T 3160 (B) T 5080
(C) T 15520 (D) T 5520

9 people went to a hotel for combined dinner. 8
people out of @ spend ¥ 30 each on dinner. 9t
person spend ¥ 20 more than average of all 9
persons. Find the total expenditure on dinner.
O =g glZe T | 379 § 8 =l 7 I 4 77 e |
T 30 T s e O = 3 |t O =R o e | 20
wTirw T TR, a1 39 |l F B0 o T T e '
TRAT o7 ?

(A) 282.5 (B) 280.5

(C) 292.5 (D) 286.5

The average weight of 11 persons out of 12 is
95 kg. The weight of 12th person is 33 kg more
than the average weight of all 12 persons. Find
the weight of 12th persons.

12 AR H § 11 i = siv oo 95 frm § 124
ST =T =e Tt SR o ofvee aem 8 33 i efem
&, @ 12 < STraH! w1 e 4 T ?

(A) 132 (B)131

(C) 130 (D) 129

9 people went to a hotelfor combined dinner. 8
people out of 9, spend T 27 each on dinner. 9th

person spends T 16 less than the average of all
persons: Find the total expenditure on dinner.

O = Bea B 82 & 70 T | B9 ¥ 8 SHfEma 7 ot
e Y T 27 O (3 g O | st = Tt =
& 3Hd W T 16 HH T (o0, a1 3 "H % g T

el T THAE 7
(A) 250 (B) 225
(C) 210 (D) 240

In a team of 10 persons, nine persons spent ¥
40 each for their meal and the remaining one
spent ¥ 9 more than the average expenditure
of all the 10 persons. The total expenditure for
their meal was

10 =afer=i =1 2 H, |t =R 3 o odee R gt T 40
T oy 3R S v = 7wl 10 =ifaEt % siaa g 9
T 9 oiftrw @ 0| 373 oM T Fe fBRa =0 gam ?
SSC CGL Mains 2014
(B)T610

(D)T 310

(A)T410
(€)T510

117.

118.

119,

120.

121.

Out of Six persons, 5 persons spent ¥ 32 each
for their meal. The sixth one spent ¥ 80 more
than the average expenditure of all the six. The
total money spent by all of them was :

& TafRe | ¥ 5 =R v we W 32 T e €16
TR ST =R ST T 8O <1FerR T e § | Wit =t
BN E= B B T

{A) 250 (B) 288

(C) 260 (Dy274

The average of six numbers is 45.5. If a new

number is added then the new average be-
comes 47. Find the new number?

6 HEmstl # oitem 45.5 © 1 97 T i W et ot @
A T i 47 T o ¥ | T Hen 9

(A) 62 (B) 56

(C) 54 (D) 52

The average salary of 15 persons is 5,500, If
the salary of one person/is added, the average

increases to T 5700 ,/What is the salary of this
one persons ?

15 SfaRE! o1 94 90 < 5,800 | gfg 1 S5fem =1 Ao
STl S & o S g 5700 g S 7 | 59 ==

B 1 L
(A) T 8700 (B) £9500
(C) T 7800 (D) T8500

19 people went to a hotel for a combined dinner
party. 14 of them spent3 79 each on their din-
ner and the rest spent ¥ 7 more than the aver-
age expenditure of all. What was the average
money spent by each person?

19 2TeHt T S Ul | T TRl S W 14 orgieE
TERRyEFE AT 79 T iR, It &= & = 19 et
% 3ired = 4 T 7 i wre e i weden STIeHT =h sl

Eeicie v i) I
(A)81.5 (B) 80.5
(C) 82.5 (D) 79.5

In a particular week the average number of
people who visited the Taj Mahal is 40. If we
exclude the holidays then the average is in-
creased by 16. Further if we exclude also the
day on which the max. number of 112 people
vigited the Taj Mahal then average becomes
42. The number of holidays in the weel is;
Terett Forsr wrmaTe & A Hewt ST et e o 40 % 1
afe gleedl =1 g €, 1 ofom 16 oF W 2 | 9 en 3|
feq =i ot 51 € o fem atfymeam 112 <0 2 9, @
airad 42 €1 ST ¥ | Targ | giezdl w gen =y ?

(C) 4f (D)3 T

Study Center : Delhi (NCR) * Mukharjee Nagar « Alwar

Jaipur « Gopalpura + Lalkothi ¢ Jhotwara ¢ tMansarovar » Ambabar « Jodhpur + Bikaner « Udaipur

(A) 2 A (B) 5 fe=



122,

123.

124,

125.
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The average height of 40 students is 163 cm.
On a particular day, three students A, B, C were
absent and the average of the remaining 37
students was found to be 162 cm. If A, B have
equal height and the height of C is 2 cm less
than that of A, find the height of A.

40 Tornferi =t ofwm S8 163 9. 2 | T Fifvem A w
3 faemeff A, B, C srgafee & 1 3w 37 fomnfof=i 1 sfem
Seg 162 T, T | SRR A, B w1 18 =W § 3
CHF FoR AH2 T, F0E T A F FE IO 2

(A) 174 (By171

(C) 168 (D) 176

Each member of a club contributes as much
rupees and as much paise as the number of
members of the club. If the total contribution
is Rs. 2525, then the number of members of
the club is.

TopTt e % Teft T, o6 3 Tl i WE F THE ol
T &R UH A €0 ¥ | Al e Aem 2525 T E

Tl Fela % TaE =1 e F1 E07 7

S$SC CGL Mains 2016
(A) 60 (B) 45
(C) 55 (D) 50

The average (arithmetic mean) amount of sav-
ings of ten students is T 600. Three of the stu-
dents have no savings at all and each.of the
others have at least ¥ 250 includingNihar, who
has exactly ¥ 1300. The largest amount, (in ),
that any one student could have is

TH B LA ST (ST ) I 6007
3 B U T | S I 990 75 7 3TN 37 o6 | O ok
I @A ¥ 9 2 250 il 9o ¢ 37 FER #1300 =i
T ¢ | AT S okl Fes S AT T ) 7 5T Fehelt

72 SSC CGL Mains 2016
(A) 3250 (B) 3450
(C) 3650 (D) 3850

Average of 11 numbers is 36, whereas average
of 9 of them is 34. If the remaining two
numbers are in the ratio of 2 ! 3, find the value
of the smallest number (hetween remaining
two numbers).

11 Femstt = oftem 36 %, Watw s | 9 = ofted 34 ¥
g ¥ 51 TEAett ST 2 ;3 %, A oheEs W
(I 7 Tt I W) T HE qaR |

S8C CGL Mains 2014
(B) 36

(D) 48

—

A) 54
C) 45

—

126.

127.

128,

129,

130.

The average of 20 numbers is calculated as 35.
If it discovered later, that while calculating the
average, one number, namely 85, was read as
45, The correct average is

20 GEAISAT 1 G 35 1 & | 915 | =g Taq1 Forar €
e FerTeTd TF Uk HEAT 85 I TIOTdT | 45 W1 ITET T |

et ofrea e ? SSC CGL Mains 2014
(A) 37.5 (B) 36
(C) 36.5 (D) 37

The average of six numbers is 3.95. The aver-
age of two of them is 3.4, while the average of
the other two is 3.85. The average of the ream-
ing two numbers is :

. HEAH o HHd 3.95 T | S99 9 1 0 S 3.4 F,
Seffer 3179 51 1 3TEd 3.85 © | ¥9 SLEesi 1 s

FFAmE? SSC CGL Mains 2014
(A) 4.5 (B) 4.7
(C) 4.6 (D) 4.8

A 60 Kg. sailor is replaced with another person
in a hoat0f 10 sailers. Then the average weight
of the sailors is increased by 1 Kg. What is the
weight of the new sailor?

T 75 F 10 Ao H T 60 TR RO U Aow
T T T AR ST W ¥ Tk oftem v R 1 BRI ®t
G & sl 7 179 T H Ry 7

(4) 70 (B) 60

(C) 66 (D) 77

The average age of twelve players of a team is
25, If the age of captain is also included then
the average age is increased by 1 yvear. What
is the age of captain?

ot 2 % 12 faenfesi =i sirga 3mg 25 od # 9z #am
1 o7 +ft AftATerm X off o o oftg o7 1 9 A St
BIFAE F A E ?
(A) 38

(C) 35

(B) 33
(D) 39
The average weight of 24 students of a class is
35 Kg. If the weight of teacher is also included

then the average weight is increased by 400
gm. What is the weight of teacher?

24 faenfedai i uw e % ima ar 35 . g1 49l
Tomarar =1 ¥ oft WitAfeTa =62 oo =1 7 oftem IR 400 7
g € | e em e ?
(A) 45
(C) 48

(B) 42
(D) 46
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132.

133.

134.

135.
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Agerage age of 17 students of a class is 16
vears. If a new student joins the class then
average age becomes 20. Then find the age of
new student.

T AR 17 Tt % oiwm oy 16 T € 8K o
T faeneft of o1 9 6 ofrea oy 20 e B et €, 9

72 foremedt =t a1 Topaii & 7
(A) 84 (B) 88
(C) 86 (D) 90

Average weight of 17 players of a team is 22
kg. If a player leaves the team then the aver-
age becomes 23 kg then find the weight of that
player.

U fohoke 21 3 17 Taenfesi = sirad o=m 22 feamn 2
o Tl Sige 5o = T, 0 A9 SfHa aeH 23 R a
T, 1 BTS T Eeret wn S = g ?

(A) 8 (B) 4

)6 (D) 10

The average monthly income of a family of four
earning members was Rs. 15,130, One of daugh-
ters in the family got married and left home,
so the average monthly income of the family
came down to Rs. 14,660. What was monthly
income of the married daughter ?

R TS Aet T TRAR 1 ST i o7 15,180 T
off | TR it TERRE 9 TF 0 e EH W 9% T BT
A T | T TR A i ST "I o7 14,660 €9 B
T | P St A B T R S

(A) 15440 (B) 17800

(C) 16340 (D)'14840

The average age of an adult class is 40 years.
12 new students with an average age of 32 years
join the class, thereby decreasing the average
of the class by 4 years. Find the original
strength of the class.

T F W Al i oE e 40 e R 12 T T
ot ofrg <1/ 32 T €, Fan o € | Foww T e
F SfET 7 4 T FW G I | e ° veet fEe

T 97
(A) 13 (B) 12
(C) 14 (D) 16

Average age of 20 persons is 25 yrs. One more
person joins the group then average age in-
creased by 1 vear 6 months. Find age of new
person?

136.

137.

138.

139,

140.

20 =il F ofEm o1 25 7 & | TF = W e
T O S 0 o o1 1 T 6 WE M B WE Wl € | S =

i 77 T L ?
(A) 58.5 (B) 56.5
(C)67.5 (D) 51.5

Average age of 10 personsis 25 years. One per-
son left the group then average age increased
by 2 years. Find age of person.

10 =t i siga 3179 25 94 ¢ | Tk = 9 Sig
=1l < & o sifaa a1 2 9 9 =g S €S9 St

ST T L ?
(A) 7 (B)9
(Q) 1 (D) 8

Average age of 15 persons is 30 yéars. One
more person joins the group, then average age
decrease by 1.5 vears. Find age of new person?
15 =T it STie o7 30,98 € | T At WHg 9 g
1 o & W et oy 105 o & we W € | T =t

3T 1T L |
(A) 6 (B) 8
(C) A1 (D) 15

Average age of 10 persons is 20 yrs. Two more
persons joins the group, then ave. age increase
by 2 yrs. Find the avgage age of both persons ?
10 ==l ot sida 3mg 20 =9 ¢ <1 31 st g o
e <1 o ¥ Tored siaa org 2 A9 9 St ¥ ST e

wHfert it offE ST T = 2
(A) 32 (B) 34
(C) 35 (D) 31

Average age of 15 persons is 35 years. 5 more
person joins the group, then average age de-
crease by 1.5 years. Find average age of 5 per-
son ?

15 =i = &fm <1 35 o § | 5 =ten SE § Wi
T € A ofrem ot 1.5 o | s et €1 5 9 s

i {9 31 719 B |
(A) 33 (B) 34
(C) 37 (D) 29

Average age of 10 persons increases by 2 years
when one person of age 40 yearreplaces by new
person. Find age of new person ?

10 =fmr = 3ired 211 2 a9 9 9g sl ¢ 919 40 749 31
=T ST 2 TR W ek 91 SR W gl STl € 1 T4
T A A AT ST 0 = 2

(A) 60 (B) 55

(C) 45 (D) 62
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141.

142,

143.

144.

Mother's &g = 374

There are 40 boys in a class and their average
age is 16 years. Then a boy of 17 years is re-
placed with a new boy and the average age be-
comes 13.875 years. What is the age of the new
boy?

THFRTH 40 TS ¢ SHTsTat offwa o1 16 O gt 17
AT E AT e o1 15.875 T B el § T T A o7y

T ISy ?
(A) 13 (B) 15
(C) 17 (D) 12

In a team of 11 playvers, two players of ages 18
vears and 20 years respectively are replaced with
two new players. The average age of the 11 play-
ers exceeds with 2 months. What is the average
age of the two new players?

el ke 39 % 11 Toenfeai %1 offem o1 2 7oA 98
STt & ofer S99 9 71 Taerfasi foment 311 18 o 3l 20 <
T TR R T Tt wite B & | 7 Raentea i
31T ATg A i ?

(A) 20 years 2 months/ 20 =¥ 2 7%

(B) 19 year 11 months/ 19 54 11 718

(C) 19 years 8 months/ 19 7% 8 AE

(D) 20 years/ =%

The average age of 11 playvers of a cricket team
is reduces by 2 monthsif two players of ages 17
yvears and/20 yvears are replaced with two new
players. What is the average age of the two new
players?

Torsit TR Sm R 1 1, Taenfea % off e o] 2 TE T e
Sl & 519 3 | & faretsar i, femset 37 17 = 3w 20
T4 &, TN TR T et = o s g | 7 faentet
i T g F 7

(A) 17 years 1 month/ 17 3% 1 wgl=T

(B) 17 years 7 months/ 17 39 7 981

(C) 17 years 11 months/ 17 74 11 7&m

(D) 18 years 3 months/ 18 3% 3 52

An elevator can carry maximum of 16 passen-
gers with an average weight of 80 kg. however,
four boys more than the maximum carrying
capacity of the elevator entered it making the
average weight as 86 kg and overloading the
elevator, what is the average weight of those
four hoys ?

145.

146.

147.

148.

T e 80 Frn. sftem YR wf sifiwa 16 =t =
AT AT 2 | gl ot o erdaT | Aty ¥R are =\
Tk Toree § Worg 4o S9oh sied R i 86 T, s

U =1 5 7
(A) 112 kg (B) 108 kg
(C) 110 kg (D) 98 kg

The average age of a cricket team of 11 play-
ers is the same as it was 3 vears back because
3 of the players whose current average age of
33 vears are replaced by 3 youngsters. The av-
erage age of the new comers is :

11 T2he Taenteat ot fiFhe S =i oTa 217, 3ot fEsne
9 % TEM ¥ | foomt sfed 37 3 A vee o wifw 3
gt fomat = sivd 319 33 = iy 3 T faenfeat
BT WiaEenfi e | faenfea @t ofem o1 3 L 2

(A) 23 yrs. /T4 (B) 21 yrs. /=5

(C) 22 yrs. /=d (D) 20 yrs. /=d

There are 800\ students in school whose aver-
age agefis 18 years. If 100 student leaves the
school their average decrease by 0.6 years. Find
their average of 100 students.

gt foraer . 800 = =i airEd o7 18 919 3 | 3FR 100
B e 6 B 54 © 9 99 B0 # S o7 0.6 9
ki FHHT ST T 1 100 BT = 3ia 31 7 |

(A) 19.6 (B)21.2

(C) 22.2 (D) 23

There are 600 students in a school whose av-
erage age is 18 yrs. If 30 students leave the

school their average age decreases by 0.6 yrs.
Find the average of those 50 students ?

Tt foremera 5§ 600 =1 £ fommnt sifwa =9 18 = 3 19f3
50 o faeeE oig 2d & | 91 S9! 319 35 0.6 7195 9 721
I § 1 39 50 D 3H i T w5

(A) 24.6 yrs. (B) 23.5 yrs.

(C) 22.6 yrs. (D) 25.3 yrs.

Average age of 20 persons increases by 6
months when two person of age 45 & 30 year
replace by two new person. Find the average
age of two new person ?

20 = i ST &g 6 Te M W 9 Tt & 59 3 Al
=t 311 45 =1 30 = ¥, % I WS T oAt WA
o ¥ | T oT Tt St i S ST S w2
(A) 42.5 (B)43.5

(C) 45 (D) 50
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149.

150.

151.

152.

153.

Mother's Arithmetic = Average

The average age of 8 member of a group is 40
yvears. Among them the age of 1 member is 55
yrs. After his retirement a new member whose
age is 39 years comes in his place. What is the
effect on the average age of group ?

7If TRt T % 8 wAfRTE i e 3T 40 T ¥ ISTH 1
TEEE T 39 55 A6 § | THAT S F ARG UF TE AR
e o & fet =y 30 9 ¥ | v % oftem =y mwm
TS TEME |

(A) 2 yrs. /7 (B) O yrs. /7d

(C) 3 yrs./=d (D) 5 yrs. /74

The average wages (labour) of 500 labours is ¥
200. Itis noticed after sometime that the wages
of two labours has been read 180 and 20 re-

spectively in place of 80 and 220. Then find the
correct average wages of labours?

500 FITR F $iHa Fogl 200 T o 9=/ w6 e
o < T A w80 T 220 F MW 180
#TR 20 T2 T T | TRTR T ST Tl Jan 2

(A) 200.4 (B) 200.2

(C) 200.6 (D) 200.8

In finding the average of five numbers, a stu-
dent writes a number 34 in place of 45. As‘a

result of which the average is 52. What is the
actual average of these five numbers?

it ST ol SHATET M % o1y fhel a9 o
T 45 9= 54 Torg <1 | Feas. 1 =891 9eEEi &=
Firaa 52 faen | Gl = ae siba g 7

(A) 50.8 (B) 50.2

(C) 53.8 (D) 50.4

A team of 8 persons joins in a shooting compe-
tition. The best marksman scored 85 points. If
he had scored 92 points, the average score for

the team would have heen 84. The number of
points the team scored was

8 AT = T &6 e WAATE § e o € | weten
Taeret #1 85 @i fier € 1 Af% 59 92 of yra fFm g
a1 9 Tt = S TR 84 € W6 | $H o g 9 e
T & TR |

SSC CGL Mains 2016
(A) 672 (B) 665
(C) 645 (D) 588

A student finds that average often 2-digit num-
bers. While copying numbers, by mistake, he
writes one number with its digits interchanged.
As aresult his answer is 4.5 less than the cor-
rect answer. The difference of the digits of the
number, in which he made mistake, is :

154.

155.

156.

T BT F Tg- 3Tkl Heail ol SI5d J1d LT 2 | S|
=i e T T W U T ¥ 9T TeTE W € | qionea:
T W SO W 4.5 T U T E | 59 Wl F SAH |
sia feme=n 2, fo Sl 4 599 et i 8 ?

(A) 5 (B) 3

(€4 (D)6

A student calculated the average of 10, three
digit numbers. But due to mistake he reversed
the digits of a number and thus his average
increased by 19.8. Find the difference between
the unit digit and hundreds digit of that num-
ber.

TF T3 10 -3 Temstt #1 ofwm Framem € ot
=g el A Uk T W S o wael < g o samm
g 19.8 9g <1 &, dl 39 HEAl % $HE S IS

T T ST T A AT 2
(A)2 B) 5
(C) 4 (D) 1

In an exam, the average marks obtained by the
students was found to be 60. After omission of
computational errors, the average marks of
some 100 candidates had to be changed from
60 to 30 and the average with respect to all the
examinees came down to 45 marks. The total
numbers of candidates who took the exam, was
T Wl | SE % 5N W e 3w 60 1 oA
Tt 1 T=H F W% 100 I F o ot F 60 W 30 8
T ¥ SR T OO W ST 45 g e €1 Then | wew

(A) 200 (B) 210
(C) 240 (D) 180

In an examination, the average of marks was
found to be 50. For deducting marks for compu-
tational errors, the marks of 100 candidates
had to be changed from 90 to 60 each and so
the average of marks came down to 45. The
total number of candidates, who appeared at the
examination, was :

TRt wifam ©, o7l =1 ofoa 50 T geT | 9s H Fa gen e
Ffz % W 100 BE % 375 90 % IF W 60 3ifEwd &
T | foras R ST 1 siEd 45 g W ¥ wien §

(A) 400 (B) 800
(C) 600 (D) 500
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157.

158.

159.

160.

161.

Mother's &g = 374

Average marks of 40 students is 72. Three num-
bers 64, 62 & 84 were mistakenly read as 68,
65, 73 respectively. Find the actual average.
40 ol % ofEd 3 72 ¥, 9% | Ay = 6 7 1w
64, 62, 84 = Tordl ¥ AW 68, 65, 73 fow fem
o1 | 1 TIoTd ! R 5 918 TET Siid =41 3 7
(A)72.125 (B)73

(C)70.40 (D)74.5

Average price of 100 articles is 46. Later is was
found that 16 was read as 61 and 43 was read

as 34 and the articles were 90 instead of 100,
Find the actual average.

100 =il % qof 1 3i9a 46 ¥ | 9 o 9w 9en fF 16
i 61 v o= = 7o 43 =1 34 wg fo=n o | =g off 100
% T T 90 off, T AT Swa A Ao 2
{A)50.71 (B)52.4

(C)51.84 (D) 53

In an exam, the average was found to be 40
marks. After deducting computational errors
the marks of the 100 candidates has to be
changed from 90 to 60 each and the average
came down to 34 marks. The total number of
candidates who took the exam were—

Torett wifen ® o= =1 ofiea 40 w0 T | et i e
1 G HTT % W 100 TEl H ¥ g g U fRE
90 3k ®l 60 F T | AT T 0 HEAL 34 37 B
Rl Ao e L (S R e e e see) e I e S i e FAES e

(A) 500 (B) 520

(C) 600 (D) 740

Average marks of 20 students of a class is 48.
One students got 40 marks instead of 60 and
other got 38 marks instead of 58. If no. of stu-

dents read 20 instead of 25. Find true average
of all students.

20 T3 % 38 7% 48 & | U B I 60 i 5 40 3K
T 58 @1 ST 38 ToF w1 A Wi Wi w25 =
ST 20 I TS § | et DT 1 wE 1 ST 9w |
{A) 50 (B) 40

(C) 60 (D) 74

There was 35 students in a hostel. The expen-
diture per day is increased by ¥ 42 due to the
entry of 7 new students, while average expen-
diture per student is decreased by ¥ 1. What is

the total expenditure on food before the entry
of new students?

162.

163.

164.

165.

T EEE | 35 BT 8 Fh 19 91 3 91§ ¥H WEH
A WATE 2 T | T 42 I Al 5 WA E, SfE a =
Faa T= T 1 9 31 90§ 1S R uEd wiafed et fea
T B ?
(A) 420 (B) 350
(C) 470 (D) 425
Alibrarian purchased 60 story hooks for his li-
brary. But he found that he could get 4 extra
hooks by spending Rs 336 more and then the
overall average price per book would be reduced
by Re 1. The previous average price of each book
was
TF TOFIAE T TRowed ¥ 71 60 Fert =it T
Tl & | eife =4 9 g & 7 Al 78 T 336 iR e
FIATE T AE 4 AT oA 50 T T & of U e
R Tfd T it GG 394 G T 1 3E 81 ST | e
Y&k I TGS ki SIET R ISy |

SSC CGL Mains 2016
(A)T 84 (B)¥ 83
()T 68 (D)T 100
There were 30 students in a hostel. If the num-
her of students increases by 10, the expenses
of the mess'increase by Rs. 100 per day while
the average expenditure per head decreases
by Rs. 1. Find/the original expenditure of the
mess.
T g2e ° 30 faemedt ¥ 1 afs feenfeal #1 gemn 10 55
ST T 49 @ 3 100 wiafeA sg =i € st sid
i ferenedt et H T 1w S § | o

Elagead
(A) 450 (B) 420
(C) 460 (D) 460

Alibrarian purchased 50 story-books for his li-
brary. But he finds that he could get 14 books
more by spending ¥ 76 more so per book aver-
age hecomes T 1 less. The average price (in 3)
of each book he bought, was.

Tk T3S 39T A5l & o8 ®@F! & 50 =l ®Hias
Tite & | S 50 T € A T 76 SR T T s 14
T erfirs Eis T § T vl feae sfea 9ea € 1
Y T SIS, 9 S9% R |G 75 Wk Tohard wh 31

ea T AL
(A) 15 (B) 25
(C) 20 (D) 10

There were 40 students in a hostel. If the num-
ber of students increased by 8 the expenses of
the mess increases by ¥ 48 per day while the
average expenditure per head decreases by ¥
2. Find the original expenditure of mess.
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166.

167.

168,

169.

Mother's Arithmetic = Average

U et 3 40 fommedi ¥ | =t fanfesi =i vemn 8 55 @it
& o &9 = @ T 48 ylafed 5g < ¥ sEtw s wi
forenedt = + T 2 =1 i €1 9T ¥ | F o SARER w9

Ead
(A) 620 (B) 720
(C) 750 (D) 820

In an examination average of a group of stu-
dents is 52. Out of these 20% topper students
average is 80 and 25% week student average
is 31. Average of Remaining Student is.
Tomnfefi % T o = UE THan ° ofiew 52 o, T H
20% B et = fwa 80 Tt 25% Foeik et
o1 A 31 % 1 9 ferenfoiEt o Hem wER g 7

(A) 45% (B) 50%

(C) 51.36% (D) 54.6%

There are 50 students in a class average
marks is 60, No. of boys is 10 more than no, of
girls. If average marks of boys is 62 find aver-
age marks of girls—

50 DT T ST S 60 ¥ | TG TSH T HEA TS A F
A 10 ST TR Tl T ST o7 62 & 1 ergramai

1 Sioa ST T8
(A) 50 (B) 57
(C) 60 (D) 74

The average (arithmetic mean) amount of sav-
ings of ten students of Rs. 600, Three of the
students have no savings at all and each of the
other have at least Rs/ 250 including Nihar,
who has exactly Rs. 1300. The largest amount
in Rs. That.any one student could have is ?

T BN bl @=d il SHa ( S0 A1) WET 6008, % |
3 ©E UH § ol 5hlE o= A2l & SR 3 96 4 8 9o
%1 %9 8 9 250 . Fi 990 ¢ SR fr AT 1300 % i
o E | IRy o &) e gel A (%, H ) 0 g Hehdl

%7
(A) 3250 (B) 3450
(C) 3650 (D) 3850

In an exam, the average marks obtained by
John in English, Maths, Hindi and Drawing
were 30, His average marks in Maths, Science,
Social Studies and Craft were 70. If the aver-
age marks in all seven subjectsin 58, his score
in maths was ?

TF e |, W A efire, i, S of g # sitem
T 50 9 | 3 T, e, St T aun wre
W iy 70 9 | 3t o = =t 7 feai & i w
ST 58 T E, o T A SWeR AT R 9 7

(A) 50 (B) 52

(C) 60 (D) 74

170.

171.

172.

173.

The average height of 40 students is 163 cm,
on a particular day, three student A, B, C were
absent and the average of remaining 37 stu-
dents was found to be 162 cm. If A, B have equal
heights and the height of C be 2 cm less than
that of A. Find the height of A.

40 Teneft =1 3itaa = 163 941 7 | f @@ G
formeft A, B, C omgmeaifa & ot 3 37 ot = oftem
162 HHY. =14l A 791 B i = se) € a2 C i S9g
AR 2l TR I AT SR FEER 2

(A) 176 cm (B) 166 cm

(C) 180 cm (D) 186 cm

There are 320 students in a hostel. If the num-
ber of students decreases by 10, then the ex-
penses of the mess decreased by ¥ 58 per day
while the average expenditure per head in-
creases by 20 paise. Find the original expendi-
ture of the mess.

T srEEE 320 faEnsdt € 19 10 3 sEems e s
e =1 wlafeA #1 e Tl T 58 FH BT Wl & | ok Hid
forenedi @+ 20 F9 9g S E, W@ T G IR

=] o 17
(A) 3640 (B) 3840
(C) 3460 (D) 3860

The average age of 30 students of a class is 14
vears 4 months. After admission of 5 new stu-
dents in the class the average becomes 13 years
9 months. The youngest one of the five new stu-
dents is 9 years 11 months old. The average age
of the remaining 4 new students is.
W 1 % 30 BT ki AT 311 14 < 4 HIE © | SHI e
H 5 0 BT A TEY T F WG ST 13 7 9 AR B W@ g |
T T BT o Herd Bl 9 9 = 11 |Ig W E | AT 4 7Y
T i oftem oy e © 2

S8SC CGL Mains 2015
(A) 13 years 6 months/ 13 7% 6 A5
(B) 10 years 4 months/ 10 51 4 |
(C) 11 years 2 months/ 11 9% 2 7T
(D)12 years 4 months/ 1291 4 A%
The average marks obtained by 45 students in
a classis 80. The difterence between the marks
of the student who got the highest marks and
the student who got the least marks is 99. If
both these students are not considered, the
average of the class falls by 1 mark. Find the
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174.

175.

176.

177.

Mother's &g = 374

T Fal | 45 forenfen grn v == oftea 80 ¥ | femnet
T 9T SRR i S AR ST o $ii 99 € | #TR
T Torenfefe =h wer e o A A = o 1 g
% a1 etforrae ot T T ?

(A) 103 (B) 102

(C) 104 (D) 106

There are 48 students in a class with the age
of one of the students being twice that of the
age of another. If these two students are re-
placed by two others whose ages are 16 years
and 11 vears respectively the average age of
the class increase by 1.5 month. Find the age
of the younger of the two students.

W el § 48 farmneif & f5 § ueR oty IR i g 9
T SR T Sl faenfe w5 se 16 | ik 11 |
% Terenedt o <o ¥ A e # 2ia g 1.5 7L g S
F 1o < farenfel=i & € o faandf =i sy o 22

(A) 10 =% 6 1% (B) 9 =4 4 Wie

(C) 123 (D) 8= 11 \E

The average age of 30 boys in a class is 15 years,
One boy, aged 20 years, left the class, but two
new bovs came in this place whose ages differ
by 5 yvear, If the average age of all boys nowin

the class becomes 15 vears, the age of the
younger newcomer is :

TF FRTH 30 B = 2ffwa o 15 79 § | T O faert
AR 20 T T, Tl I BIGTA T | D T fenel TR v
RN H ot ¥, T g A 5 o etav e | At e
IOTEeR BT F A ST 15 5% 2, A AT H 97 B B

i S0 T
(A) 16 (B) 20
(C) 10 (D) 25

The average temp in a weekdrom Monday to
Wednesday is 40°C and from Tuesday to Thurs-
dayis 38°C. Ifthe temp of Thursdayis 3 /4 times
that of Monday. What is the temp of Thursday?

foredt waTE . HFAR € FUAR 75 W SiEa T 40°C
AT HITR & JERAfTaR T 1 3TT5d arm 38°C =11 =f%
JETATTER 31 AT9HIA HIFAR 26 TT9HH 3 3/4 71, 9 geeafdar
Al ATHHTA foe o ?

(A) 19 (B) 18

(C) 24 (D) 16

Three numbers are such that, first number is
double than that of second and half of third num-
ber. If the average of all three numbers is 56,

then what is the difference between first and
third number?

178.

179.

180.

181.

i HeaTd 9 wHR € ok et T gad Hen 1 g € iR
qred) e | i B\ 4fE Ji41 Gt w1 2l 56 20,

Teelt ofi Fredt e o e ?
(A) 24 (B) 48
(C) 42 (D) 14

The average of three numbersis 60. If first num-
her is equal to 1/4 times of the sum of other
two numbers, then what is the first number?

R st = Siem 60 ¥ At ST Tl W, WS
TR % A 3 1/4 F AALE, T TE T E ?

(A) 36 (B) 63

(C) 32 (D) 34

The average of first five numbers is three times
than that of the sixth number. If the average of

2
all six numbers is 1U€ then what is the value

of sixth number?
TRl e st R i ®E e A e E | |ts g9

, 2ol . "
Tt 1 s, 107 S oot won Fn E 2
(A)6 (B) 4
(C) 15 Dyo
The average temp from Monday to Wednesday
is 31° C while'the average temp from Tuesday
to Thursday is 28°C. The temp of Thursday is
4 /5 times to that of Monday. Find the temp of
Thursday.
AR & FHER 1 SiEd T9HH 31°C § S dieear 8

FEEATTaR =l AITHM 28°C T | SEEafaar 1 s JHaR
% A9 T 4/ 5 T, G JEEIaAR &l GTIHM S 2
(A) 36 (B) 46

(C) 47 (D) 42

The average of temp of Monday, Tuesday,
Wednesday and Thursday is 37°C and the av-
erage temp of Tuesday, Wednesday, Thursday
and Friday is 34°C. If temp of Monday was

1
57?% more than temp of Friday. Find the

temp. of Monday ?
HHAR, HITCTIR, JEAR T e aer =1 S arg9H 37°C
T | TR HEER, AR, FeIEn a9 JEFER F i

- 1
AT 34° ¥ | HHAR w1 aT9HH, IHHaR 9 57 % aifermn

% 91 Fan w5 AT 9 w2
(A) 35 (B) 36
(C) 33 (D) 42
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183.

184.

185.

Mother's Arithmetic = Average

A table of first six months of an vear was pre-
pared. Temperature of January is half of April

0
and - of February, temperature of March and
33

February is same. Temperature of May is 48°

C and temperature of June is 15° C less then

addition of January and April. The average of

all six months is 36.5° C. Find temperature of

each month.

a9 % UEd 6 HEM % ATHd HITEE qIHE i TH RO
1

AT TR | A AT STHel 2 AT E,wﬁ

= 20 '3 = i
A , T 0 A9 R § W W R |

T ATTAE 48°C & q01 97 T AN WAL o aTH
TR AT 15°C %A € 1|t 6 TR = oftem arre
36.5°C ¥ | |l qEIHI =T ST e A= 91 |

(A) 20,33, 33, 40, 45 (B) 15, 30, 55, 48, 58
(C) 10, 33,68,48,89 (D) 30, 23,53, 36, 65
The average age of a husband and wife, who
were married 7 years ago, was 25 yvears at the
time of their marriage. Now, the average age
of the family, including hushand, wife and a
child, born during the interval, is 22 years.
What is the present age of the child ?

i 3R v, foreer foamg 7 =1 gget gan o, &t sifen 31
ToraTe % WA 25 T off | ora AR T ofiwm o1 e T
T T S 3 S H g, ot M e 22 W E ar
a4 ki A G [T F

(A) 4 yrs. (B) 3 yrs.

(C) 2 yrs. (DY 6 yrs.

Liberty get profit. 3% on 1/4 ofinvest and 5%
profit on 2/3 part of invest and get 119 on re-
maining part of invest. Find the average profit
on total invest.

feferal o791t Uk BIGIE ISt WX 3% N WISkl &, A9 9
fagrE deil W 5% TN W Rl T 9 Y W 11% TN qTa
AT F | THHT Pt Yol TR SIET 1[I HifoTd

(A) 7% (B) 3%

(C) 5.5% (D) 5%

Average marks of 1/4 the total no. of students
is 2/5 of the total marks. Average marksof 1/8
total no. of students is 4/5 of the total marks.
Average marks of 2/5th of the total no. of stu-
dents got 3/4th the total marks and average of
rest no. of students is 1/5 times of the total

marks. If average marks of all studentsis 327.
Find total no. of marks.

186.

187.

188,

- N L2
mwmﬁmzmﬂ‘rme,mmwwwgm@

4 ;

wmﬁmgmmwwwmms

v 2 . « . - 3 . .
@'?TWG?EmWEWWWWW%%TW

319 SET 1 ST S HA AR B é Ton & |4 e
offEa ofF 327 B, 0 T oTF 71 FL |

{A) 500 (B) 520

(C) 600 (D) 740

Fifteen movie theatres average 600 custom-
ers per theatre per day. If six of the theatres
close down but the total theatre attendance
stays the same, then the average dailyatten-
dance per theatre among the remaining the-
atres is:

15 ettt fordedl ® sfeda wfafet v BE= " 600
T TR ¥ | A S 6 T T A T e forire
ST/ ATl 1 e e, ot Tt ¥, o @ frdrad W 9
e et W SR i STTE ST Sty e E ?

(A) 900 (B) 1000

(C) 1100 (D) 1200

A shipping clerk has to weigh 6 distinct pack-
ets. He weighs them four at a time, weighting
all the possible combinations of the packets
from the six. The average weights of all the
weighing combinations is found to be 500 g.
What is the combined weight of all the six pack-
ets?

W T aeteh o 6 1= Uahe ot 0 8 | 9% Uoh 998 W
e ot 4 T m e A g, T i T g e H 94 %
T RS § | W S 4 7 TR A e 500 um § ) AR

= T T B 2
() 3 Kg. (B) 4 Kg.
(C) 1 Kg. (D) 2 Kg.

The average expenditure of a man for the first
five months is Rs. 1200 and for the next seven
months is Rs. 1300. Find his monthly average
income if he saves Rs. 2900 during the year.

T =T RS 5 WEml = oiee we 1200 T € @R
STTET FA AEH 1 1300 T § | 7R 98 WA H 2900

(A) 10,000 (B) 18,000
(C) 1500 (D) 20,000
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190.

191

192,

Mother's &g = 374

An Army of 12000 consists of Europeans and
Indians. The average height of a European is
Sft 10inches and that of an Indian is 5ft 9

3
inches and that of the whole army is 5ft 91

inches. Then the number of Indians in the
army is ?

12000 wEE %t &1 # 7R s SR e oo |
=G Sl SiET =g 5 Fe 10 59 ¥ iR adi™
ST ki i o 5 R 9 $9 ¢ A WO T I

aﬁﬂﬁamrﬁQ‘sEn—«:Qz = FH s SR

T TN ? S8SC CGL Mains 2016
(A) 3000 (B) 4000
(C) 5500 (D) 2700

In an exam, the average marks obtained by
John in English, Maths, Hindi and Drawing
were 50. His average marks in Maths, Science,
Social Studies and Craft were 70. If the aver-
age marks in all seven subjects is 58, his score
in Maths was

T e |, W9 e, i, et ofk g # ofrem
U 50 9| 3950 e, g, Tare-faam a1 e g
3iTEd Wreiies 70 9 | =g <ifq % |t 7 foaai % ureies w0
sited 58 T, g1 a1 MU 6 Wi foha & ?

S8C CGL Mains 2016
(B) 52

(D) 74

(A) 50
(C) 60

. The average monthly salary of all the employ-

ees in a factory is T 8840, If the average salary
of all the officers is I15000 and that of the re-
maining employees is T 8000, then what is the
percentage ' of the officers among the employ-
ees?

foraft Tt & G RH=A1ET 1 sfida 997 T 8840 T Al
[efi sTfemrTE =1 sifed a9 T 15000 & &7t 3 =
= ST F $ 8000 © 1 Fe=E H arfbmntiEt = wiawm
A ?

S8C CGL Mains 2016

5 1 2

9= 8— 11>

(A12  (B) 97 (85 ()13
The average salary of all the associates in a
team is 16000. The average salary of 7 senior
associates is 24000 and the average salary of
the rest is 12000. How many associates work

it that team?

193.

194,

196.

196.

T T % At gewEl o afia J9e € 16000 ¥ 7 9fis
TTE i i 3 T 24000 § w6 30 wee oo
A T 1200 % | 39 &1 § foher Haea = 3d & 7
(A)21 (B) 22

<y23 (D) 24

The average salary of all the associates in a
teamn is 800. The average salary of 13 senior
associates is 1200 and the average salary of

the rest is 600. How many associates work it
that team?

TF <& & [l TE=i ;W oiwa A9e T 800 ¥ 13 IS
Fawil ol 3T 901 T 1200 ¥ UA 919 gel o siigd Sad
T600 2139 ca H fFa T w0 |

(A) 26 (B) 22

(C)39 (D) 24

The average of marks obtained by 120 candi-
dates in a certain examination is 35. If the
average marks of passed candidates.is 39 and
that of the failed ¢andidates is 15 what is the
number of candidates who passed the exami-
nation?

forett et § 120 forenfeEi gr v it o7k 35 % 1 4fg
g fenfert o siie 81 39 7 9w thet gu femnfiEt
ST o7 15 T T AT g o= = o 9 = |

(A) 20 (B) 120

(CyQ0 (D) 100

The ‘average salary of the entire staff in a of-
fice is ¥ 120 per month. The average salary of
officers is ¥ 460 and that of non-officers is I

110. If the number of officers is 15, then find
the number of non-officers in the office.

Torett =matera | wft = At ofteE o T 120 WA ©
Tt ST i SiTEd 319 T 460 T a9 91 379 91 SR
T & | =T sied s T 110 % | 3fe sAiftee i g 15
&, 1 I T T F A SR T

(A) 610 (B) 510

(€) 410 (D) None / %% et

In an examination average marks obtained by
the girls of a class is 85 and the average marks
obtained by the bovs of the same classis 87. If

the girls and boys are in the ratio 4 ; 5, average
marks of the whole class (approx) is closed to—

T el i et e # wraik 7 ofew 85 ¥ ofiw
T Heql H gl ok Wikl B SiEd 87 7\ Aft gt
SIREEH 4 : 5% oA | §, T T T F i ofF
() PR € 2
(A) 86.5
(C) 86.4

(B) 85.9
(D) 86.1
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198.

199,

200.

Mother's Arithmetic = Average

The average of daily rain in a week is 0.25 cm.
There was no rain on Saturday. and it was re-
corded as 0.4 ¢cm, 0.03 cm, 0.45 em, 0.27 cm
and 0.5 em rain on Sunday, Monday, Tuesday,
Wednesday, and Thursday respectively. How
much rain was recorded on Friday?

ek HH1E o5 TeTu 3 ek ol ot 37i9d .25 |, o1 | 9 F
T ®E A9 T8 g | VAR, WHAR, WEER, YA uE
FEATTER &l F99: 0.4 ¥41., 0.03 ¥41., 0.45 ¥4t 0.27
AT, A2 0.5 T, A9 5l TS | YEHEAR AT e A g ?

(A) 0.2 cm. (B) 0.1 cm.
(C) 0.05 cm. (D) 0.15 crm.
(an+'l + b11+'l )

If the average of a and b is (an + bn) . Find

the value of 'n'?

(an+'l + b11+'l
qfs a g b % sieE W 24 ' A |
|
(A) O B)1
(C) 2 (D) 4

An hour-long test has 60 problems/If a student
completes 30 problems in 25 minutes, then the
required seconds he has taken on average for
computing each of the remaining problems is

fordl TR AT ot Wiel 5 60 W gl § | afe shig fermmedt
25 A2 H 30 79T LS & A1 0 W 1A T g0
T H STHAA TN A WS 1 GHA e ?

SSC CGL Mains 2016
(A) 70 seconds/FF"E  (B) 50 seconds/TFTE
(C) 40 seconds/&F7E (D) 30 seconds/FF"E
A and B have their annual average income
80,000. B and C have their annual average in-
come ¥ 75,000. C and A have their annual av-
erage income ¥ 78,000. The annual income of
Ais?
A ¥R B =t =it <fem om T 80,000 §1 B &R C =
aifeer ireg @™ T 75,000 % 1 C 3K A =i =i aiied
¥ T 78,000 ¥ 1 A %t =i it o1 wrame 2
SSC CGL Mains 2016
(B) ¥ 82,000
(D) T 84,000

(A)¥ 81,000
(C) T 83,000

201.

202,

203

204.

205.

The average weight of A, B and C is 45 kg. If
the average weight of A and B be 40 kg and
that of B and C be 43 kg, then the weight of B
is:

A, B, 3 C = offwm a9 45 B § 1Rk A siRB =

o o™ 40 T S e B iR C w43 e 1 B

1 A9 TG ? $SC CGL Mains 2016
(A) 31 kg (B) 32 kg
(C) 29.5 kg (D) 35 kg

Mulkesh has twice as much money as Soham.
Soham has 30% more money than Pankaj. If
the average money with them is ¥ 110, then
Mukesh has S8SC CGL Mains 2016

Tl ok U AIeH | SEET TR T | HEH % v |
50% sfers st ¥ | afs =1 9 efeda sRifa T 110
71 a1 e % I Tohat erRifer & 2

{A) 155 (B) 160

(C) 180 (Dy175

Of three numbers; the first is 4 times the
second and 3 times the third. If the average of

all the three numbers'is 95, what is the third
number ?

7 Tt H | gEe e T A g o Fed =
et %1 A = SRt = sftem 95§, A del e

TRt &2 SSC CGL Mains 2014
(A) 130 (B) 57
(C) 76 (D) 60

1
[f average of two numbers x and — (where x #0)
X

1
is A, what will be the average of x* and < ?
. 1 o N
=f & et x ofit ;Waﬁ'ﬂﬁﬁ%, (T x = 0) A x° 31T

é =1 ofwa FMEMM? SSC CGL Mains 2014

(A) 4A% - 4A (By4A*-A

(C) 4A° - 2A (D) 4A% - 3A

The average of marks obtained by 120 candi-
dates in a certain examination is 33. If the
average marks of passed candidates is 39 and
that of the failed candidates is 15, what is the
number of candidates who passed the exami-
nation ?

Tk e % 120 el g wriel @@ sfed 35 #)
= atenfeEl o e S 39 § AR ST et %
15 2 1< U Fopo faemelt & =it wdien 9 <ot gu ?

{A) 100 (B) 90

(C) 80 (D) 20
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209,

210.

Mother's &g = 374

The average of marks obtained by 125 candi-
dates in a certain examination is 29. If the
average marks of passed candidates is 36 and
that of the failed candidtaes is 11, what is the
number of candidates who failed the examina-
tion ?

T TR H 125 et gr e == o 20 ¥ S
TETTEE 3 ofm ot 36 ¥ ST sTeit wsmeE 11 )
T U R Tt | O 3w Tie | S gy ?

(A) (B)

(€) (D)

Out of Four persons, 3 persons spent¥ 100 each
for their meal. The fourth one spent ¥ 150 more
than the average expenditure of all the four.
The total money spent by all of them was :

4 =t | ¥ 3 =t v @ M T 100 T & 3 |
<ten =t sired &t s1den T 150 AAferek @ &3 € 1 9d

ST G @ el U F R 7
(4) 500 (B) 520
(C) 600 (D) 740

There are 30 workers in a factory. If the num-
ber of workers increased by 10, then the total
wages increases by ¥ 9000 per day while the
average wages per worker decreases by ¥ 75.
Find the original total wages of factory.

et FRE™ # 30 TR FW W ¥ 1 10 Wegd % 8
YIS 1 9 | qRfes =t Fel 7orgdt T 9000 7g St & |
AT Wi o Sira Aol T 75 TSl g, A e

T A F T TG A et TG a ot 2
(A) 42000 (B) 40000
(C) 36000 (D) 34000

The average weight of X, Y and Z is 74dke. [fthe
average weight of X and Y be 68 kg and that of Y
and Z be 78 kg, then the weight (in kg) of Y is
S8C CGL T-2, 2017 | 9 March
X, Y R Z &l fraa a9 74 fR. ¥ 1 PR X SR Y
st =M 68 T, 71 SR Y iR Z =1 siea o 78

form, =1 Y o= (e, &) L Z
(A) 72 (B) 70
(C) 68 (D) 66

Of the 3 numbers whose average is 26, the first
is 2/11 times the sum of other two. The first
number is:

3 st w0 ofa 26 %, T 9 el e e < wensti
FAME2/11 T AR | Vel S
$SC CGL T-2, 2017 | 9 March
(B) 13
(D) 12

(A) 16
(C) 11

211.

212,

213.

214.

215.

216.

The average weight of a class of 50 students is
48.6 kg. If the average weight of the 20 boys is
54 kg, then find the average weight (in kg] of
the girls in the class.
50 DT i T T ST A9 48.6 TR ¥ 1 9FR 20 T
o1 3iad Ao 54 foRum. ¥ o e F feem ool = siaa
7o (fFm. #) 7@ w1

SSC CGL T-2, 2017 | 9 March
(A) 40 (B) 46
(C) 45 (D) 42
The average of all odd numbers from 113 to 159
is ... SS8SC CGL T-2, 2017 | © March
113 ¥ 150 7 = weft o st = ofem .. £
(A) 135 (B) 134
(C) 133 (D) 136
The average marks of 30 students in an ex-
amination was 65. It was later found that the
marks of one student had been wrongly entered

as 83 instead of 38. The correct average is?
SS8SC CGL T-2,2017 | 17 Feb

50 T % TS AdET § ST ofF 6538 AR W TH T
=1 #hi FoRdll B % 3170 38 “ 9914 83 Sie faU T4 o | W&t

S8 1 2R 7
(A) 65.9 (B) 64.5
(C) 64.7 (D) 64.1

In a clags of 50 students there are 22 girls who
scored an average of 35 marks in the test. What
is the average marks of the boys if the class
average is 42 marks?

50 BT F UFE FRTH 22 ASHA ¢ Torer wren # o 35
ek sffsia Tl | =1fg owen o1 3fiea 42 o & ol wis#l &
#7rem ofF P ¥ 27 8SC CGL T-2,2017 | 17 Feb
(A) 50 (B) 52.5

(C) 47.5 (D) 55

The average of 41 consecutive odd numbers is
49, What is the largest number.

41 EFT foram Sl o 78 49 ¥ | Tas 91 W =

2 S8C CGL T-2, 2017 | 17 Feb
(A) 89 (B)91
(€)93 (D) 95

A batsman scores 87 runs in the 21st match of
his career. His average runs per match in-
creases by 2. What was his average before the
21st match.

et SecteTsl A T R % 219 I9 H 87 T 99 | 39F
Wi &= 0 SEd 2 | ag T 219§ % Tge SHE

T =7 o ? 8S8SC CGL T-2, 2017 | 17 Feb
(A) 45 (B) 46
(C) 44 (D) 43
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218.
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220.

221.

Mother's Arithmetic = Average

The average weight of P, Q and Ris 71 kg. If
the average weight of P and Q he 66 kg and that
of Q and R be 76.5 kg, then the weight (in kg) of
Q is. 8S8C CGL T-2, 2017 | 18 Feb
P, Q iR R = efwm oo 71 . 1 9 P sfR Q =
sfiem To 66 TR, ¢ Q ¢k R = offwa 39 76.5
=, & @ Q T oaem (R, #) framerm 2
(A) 60 (B) 72
(C) 81 (D) 75
Rita buys 5 sarees at an average cost of Re 2250.
If she buys three more sarees at an average
cost of Rs 27350, what will be the average (in Rs)
of all the sarees she buys?
A 2250 T % T god 9 5 wifen wdial 13t S5
T iR Tt 2750 % Hiad g 9 wlial a1 gt wfei
o1 SEd Hod (FTE F ) =g ?

SSC CGL T-2,2017 | 18 Feb
(A) 2437.5 {B) 2500
(C) 2450 (D) 2332.5
In a one day match of 50 overs in an innings
the team A had a run rate of 5.3 runs per over.
Team B is playing and 5 overs are left and the
required run rate to tie the match is 7.2 per
over to match the score of Team A What/is
team B's score?

T o f = H 99 A S 50 ST F TR O H 5.3 Wl
o A T W W o | Em B A T e oiis efen e, g
T o Zm A T SRR A a0el A R e W
7.2 90 &T@ 5 150 B TSR E 7

SSC CGL T-2, 2017 | 18 Feb
(A) 265 (B) 238
(C) 254 (D) 229
Average of all even numbers between 104 and
148 is .
104 ST 148 % =19 =61 T30 99 FEm=AT w1 SiEd fwa

grm? SSC CGL T-2, 2017 | 18 Feb
(A) 128 (B) 130
(C) 124 (D) 126

The average marks of 18 students in an ex-
amination was 60. It was later found that the
marks of one student had been wrongly entered
as 63 instead of 36. The correct average is:
8SC CGL T-2, 2017 | 19 Feb

T T H 18 BEl F ofF W i 60 M AT H T
T T R T W ST 36 F AW 63 T T o | wEt

(A) 59 (B) 59.5
(C) 58 (D) 58.5

222,

223,

224,

225.

226.

227,

In a class of 60 students there are 20 girls who
scored an average of 40 marks in the test, what
is the average marks of the boys if the class
average is 60 marks?

60 BT ! T TR H 20 TEREAT W T H o794 40 o7
et | ookl % 3ia i fpae g afs e 1 3iied 60 sT®

: -2, e
%2 $SC CGL T-2, 2017 | 19 Feb
(A) 60 (B) 70

(C) 50 (D) 80

The average of 44 consecutive odd numbers is
144 What is the largest number?

44 FRHTTT oo Gl o ST 144 3 | Had SIS o A

e $SC CGL T-2, 2017 | 19 Feb
(A) 189 (B) 191
(C) 187 (D) 193

A batsman makes 100 runs in the 25th match
of his career. His average runs per match in-
creases by 1.4. Find his average before the 25th
match. SSC CGL T-2, 2017 | 19 Feb

W SeielTsl 3T9H ShiEL oh 259 7= § 100 A e | 39%
| 1 30 ufd 9 1.4 A2 E | 255 79 T el TEA

a2
(A) 65 (B) 55
(C) 75 (D) 45

Of the 3 numbers whose average is 22, the first
is 3/8 th the sum of other 2. What is the first
numher?

3 Hes| | 9, T 2imed 22 ¥, sel 9 o 3 e

%a‘mm%aﬁ%w%ﬁa@rw%?

SSC CGL T-2,2017 | 20 Feb
(A) 16 (B) 20
(C) 22 (D) 18
The average of three consecutive odd numbers
is 52 more than 1/3rd of the largest of these
numbers. What is the smallest of these num-
bers?
TR i fore Sl 1 3T s & 99 98 9

1. . - .
3952 SR € 130 | T B e e 2

SSC CGL T-2, 2017 | 20 Feb
(A) 79 (B) 75
({C)81 (D) 77
A batsman scores 98 runs in the 17" match of

his career. His average runs per match in-
creased by 2.5. What is his average before the

Study Center : Delhi (NCR) * Mukharjee Nagar « Alwar

Jaipur « Gopalpura + Lalkothi ¢ Jhotwara ¢ tMansarovar » Ambabar « Jodhpur + Bikaner « Udaipur

17®™ match?



228,

229,

230.

231.

232.
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T FecldlST | ST HIER % 174 §9 H 98 T o1 | 35
vl #9 afired i ° 2.5 i gls 33 1 175 99 § 750t S9H

free T E 2 SSC CGL T-2, 2017 | 20 Feb
(A) 58 (B) 60.5
(C) 63 (D) 55.5

What is the average of all numbers between
100 and 200 which are divisible by 137

100 ST 200 % o= 7 Tt wemst w ST T e, W13 |

A B 2 $SC CGL T-2, 2017 | 20 Feb
(A) 147.5 (B) 145.5
(C) 143.5 (D) 149.5

The average weight of L, M and N is 93 kg. If
the average weight of L and M be 89 kg and
that of M and N be 96.5 kg, then the weight (in
kg) of M is

L, M e N 71 sire 7o 93 e, # 1 L it M
i o 89 B it M a=n N =1 &ftwm 7o/ 96.5

famm. % 4t M =1 &= femm. g

SSC CGL T-2,2017 | 21 Feb
(A) 92 (B) 86
(C) 101 (D) 95

Mahesh buys 3 shirts at an average price of ¥
1250. If he buys 2 more shirts at an average
price of ¥ 1450 what will hbe the average price
{in Rs) of all the 5 shirts he buys?
AW T 1250 % 3iEd 9o | 1 7 @il 2 | e ag ¥
1450 % =ii5d geq 9 @ 3K w2 @iem ¥ 9.ade 1y
[Tt i vl W SiEa e (T W) a e

SSC CGL T-2, 2017 | 21 Feb
(A) 1370 (B) 1330
(C)1310 (D) 1390
In a/one day match of 50 overs in an innings
the Team A had a run rate of 6.1 runs per over.
Team B is playing and 10 overs are left and the
required run rate to tie the'match is 6.5 per
over. What is Team B's score now?

50 3R F T Wodm T H 91 A S T T H T o
6.1 F A TITTE | 29 B G 1 & ofiX 10 sfon a4 §
A = F 2 B ¥ fOU evows W 2 6.5 uiE sier &)
9 B o THR i =1 8 ?

SSC CGL T-2,2017 | 21 Feb
(A) 235 (B) 230
(C) 240 (D) 225
Average of all even numbers between 222 and
250 is
222 3TR250%EWWFWWWT@TEHW
SS8C CGL T-2, 2017 | 21 Feb
(A) 234 (B)232
(C) 236 (D) 230

233.

234.

235.

The average score in an examination of 10 stu-
dents of a class is 60. If the scores of the top
five students are not considered the average
score of the remaining students falls by 5. The
pass marks was 40 and the maximum mark
was 100. It is also known that none of students
failed. If each of the top five scorers had dis-
tinct integeral scores, the maximum possible
score of the toper is— [CAT, 2016]
T T H 10 fmnedt = oftvm o 60 ® 1 9 wat= 5
Tr=ntei = of e W =m A PR e & ) @ 9 et
T STTEa H 5 W FAN ST € | VIR 40 T ATerara
&1 100 ¥ | 78 <@ fiF FE et o1 w9 gem) A
it & 1 Wt ot v e § 71 et
T AT Tt = erfirran o o T |

(A) 99 (B) 100

(C) 87 (D) S5

In an apartment complex, the number of people
aged 51 years and above is 30 and there are at
most 39 people whose ages arebelow 51 years.
The average age of all the people in the apart-
ment complex is 38 years. What is the largest
possible average age. in years, of the people
whose ages are/below 51 vears? — [CAT, 2016]
T ATH2 TR H 51 9 3R 509 31fee 11g o1 % <l
i GEAIL30 7 3R 7T 39 Wi U £ ot smg 51 ad |
o & | errez H wedt i i i s1g 38 o ¥ | fS ot
Wi 3T 5191 T HH T ITH gAY T gRfed sied e1g
FNE?

(A) 25 (B) 26

(C)27 (D) 28

A CAT aspirant appears for a certain number
of tests. His average score increases by 1 if the
first 10 test are not considered and decreases
by 1 if the last 10 tests are not considered. If
his average scores for the first 10 and the last
10 tests are 20 and 30, respectively, then the
total number of test taken by him is:

T T2 st 7 Tfiem wen § a i At SR v 10
%, O THW TR 1 ST T 90§ | G THE T2 10 2R
iR 10 S=21 1 STEa TRXFA: 20 SN 30 ¥, AT T

R T T ? [CAT, 2016]
(A) 70 (B) 60
(C) 50 (D) 40
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f1eroT

Mixture and Alligation

The total population of a village is 8000. The
number of males and females increased by 6%
and 10% respectivley and consequently the
population of the village becomes 8600. What
was the number of females in the village?
U T % S 8000 ¥ | AT el i Hen H 6% Fr At s
WS HiEensii w1 W H 10% W Flg T TR S 8600 7
SRR, d1 7iid H "iest i S Jd Hifan—
(A) 2500 (B) 3000
({C) 3100 (D) 5000
The total students of Mother's Education Hub
in June, 2019 is 9600. If the number of boys
and girls increased by 8% and 3% respectivley
and consequently the students of Mother's Edu-
cation Hub becomes 10272 in July, 2019. What
is the number of girls in Mother's Education
Hub (July, 2019)?
AeH YT 79 A S, 2019 ¥ 9600 famedf 3 afg
TEF T H 8% Fi Il TH AStEA H e H 5% F
I ¥ W 9@, 2019 #, 10272 st & 9@ & @
HEH Tsghy g4 H ST, 2019 # wefHE we gnfi—
(A) 3360 (B) 3630
(C) 3063 (D) 3200
On a certain date, Pakistan has a success rate
of 60% against India in all the ODls played he-
tween the two countries. They lost the next 30
ODIs in a row to India and their success rate
comes down to 30%. The total number of ODIs
played between the two countries is
T Tafy= e W o9 % 9 9 T uHt v e
Hl § MwRETA %1 TRA % e TR W 60% T 13
Tl e 30 Wek faer =i | e TR Y SR S
HReTl 2 TR 30% T 7T | 31 991 % o= B 7T U
femrdia # = et W aaE )

SS8SC CGL Mains 2016
{A) 50 (B)45
(C) 60 (D) 30
600 students took a mock exam in Delhi. 55%
of the boys and 75% of the girls cleared the cut
off in the examination. If the total percentage
of students qualifying is 63%. Find the number
of boys and girls appeared in the examination.

600 =11 7 et 7 THaT 31| 55% TEH A F2 25 I
T AL T 5% TERFAT 7 S 3WE I Fl | FA 63% T 5
T2 ST I F | TS ST ASEA i T e ?

(A) 360, 240 (B) 320, 260

(C) 300, 300 (D) 200, 400

The ratio of weight of Kamlesh and Shyam is 4
: 5. The weight of Kamlesh is increased by 10%.
Total weight of Kamlesh and Shyam is in-
creased by 82.5 kg. The percentage of incre-
ment in total weight is 18%. Find the percent
change in weight of Shyam.

FHAY SR A o 51 56 S 4 1 5 T 1V RERls 1 oS
10% &% T |3e A & @ 82.5 . g' T | FA
T H 15% <kl Flg 52 | 1 T8 5l FSTT fohe| U9 981 7
(A)18% (B) 19%

(C) 20% D) 21%

Sunil has ¥ 4,000. He lends some of it at 3%
per annum and remaining at 5% per annum.
If after 1 year, he gets ¥ 144 as total interest

then find out the amounts given on different
rates of interest?

A F T T 4000 AT W FS T T 3% HH T
T T 9 5% AHE /R IR 7 9% 7% 96 9% F4
R =11 3 144 71, 1 fa=-fa= <8 wsee foea |
R famr 7

(A) ¥ 1,800; T 2,200
(C) T 2,500; % 1,200

(BY¥2,800;% 1,200
(D)¥2,500;% 1,100
A sum of ¥ 15,000 is lent out in two parts in
such a way that the simple interest on one part
at 10% per annum for 5 year is equal to taht on

another part at 12.3% per annum for 4 years.
The sum lent out at 12.5% is

T 15,000 ¥ TF T 9 F 39 TR fen w5 et
¥ T 7ot T 10% W ST H 5 A9 W W w6 S
TEL UM TR 12.5% T TUH 4 0 1 HER A O E
T 12.5% H T RS T SR EE T 2

(A) T 5000 (B) T 7500
(C) T 7000 (D) T6000
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11.

12,

Mother's Arithmetic » Mixture and Alligation

A sum of money ¥ 1,750 is divided in two parts
such that the simple interest (@ 8% per annum
on first part and 6% per annum on 2nd part is
equal after one year. Find the interest on each
parts.

F 1,750 ol Uk Ufa &1 9l ° 59 v fenfem o =i
TR TeeT MFTTR 8% T o T AT T S SR gEL W
T 6% =i T Y 1 HIYR =41 =-0e & | e Tedeh 91T
T T H E—

(A)T 150 (B)T60

(C)T 100 (D) 80

Asum of T 1521 is lent out in two parts in such
away that the interest on one part at 10% for 5

years is equal to than on another part at 8% for
10 years. Find the two sums.

T 1521 =t T F7 51 9FH ¥ 59 TFR SO R e E TR
TEE TR 10% =i T W 5 A 1 S, H AT W
8%, T TX R 10 79 % =S F 90T & | SFT 9F H

Tt saRw)
(A) T 926, T 595 (B) 2906,%615
(C)2916,%605 (D) T 936, T 585

Amod invested an amount of ¥ 12,000 at the
rate of 10% per annum simple interest and
another amount at the rate of 20% per annum
of simple interest. The total interest earned at
the end of one vear on'the total amourit in-
vested become 14% per annum. Find the total
amount invested.

SR T 12,000 10% ATHF AR = & § e =
o IR 20% =M+ <3 e forar | we & = e
Fa Faflra Ui oT TR AR ] It 5T 14% o | S

et fereifin Frae o —
(A) T 25,000 (B) T20,000
(C) T 10,000 (D) T 16,000

7 960 is received as an interest in S years at 3
3600, while some part of it is given on 4% rate
and remaining part is given at 6% rate. Find
both part ratio.

T 3600; 5 T % o =re W fe@ @ T 960 = fhet |
FE AT 4% TR Tear aen 99 97 6% X R ezt

o g H T sum fag & 2
A)2:1 (B)3:5
(€)1:2 (D) 5: 4

A sum of ¥ 4000 is lent out in two parts, one at
8% simple interest and the other at 10% simple
interest , If the annual interest is T 352 The
sum lent at 8% is:

13.

14,

15.

16.

Z 4000 =i Ty < fewei § =ef wr St et 8 1 7 9 8 %
RO S W3 G 90T 10% FIERY s W Aty
e =S 352 71 a1 Fgarsy {1t i 8% FIERo =418

T S TR
(A) T 2900 (B) T 2200
(C) T 2400 (D) T3100

A sum of ¥ 1,950 was invested partly at 5% and
partly at 8% per annum on simple interest. The
total interest received after three vears was T
300. The ratio of the money invested at 5% to
that invested at 8% is .

T 1,950 I Uk LAY 3136 9 F 5% i iy &9 9
8% 7 TU T WL 571 9T TFE St & | 3 o613 975 oA
BT H HeT T 300 W GUI 5% AR 8% T TS 773 Tigra

T ST & —
(4) 113: 5 B)112:5
(©).111:7 D) 113:7

Arya Raj invested an amount of ¥:13,900 di-
vided in two different schemes A and B at the
simpleintenest rate of 14% per annum and 11%
per annum respectively, If the total amount of
simple interest earned in 2 years be ¥ 3508,
What was the amount invested in scheme B ?

81 7511 % 13900 <7 3760 Tl A 31 B H @ | w6
AR 14% TR TFH B R 11% Afaad #t 53 § wremm
S fHerdT € | 1 2 99 = et e s T 3508 €, |
T B H SE T 9 9 e 7

{A) 7500 (B) 6400

(C) 6500 (D) 7000

T 2500 islent partially on 8% per annum simple
interest and 5% per annum simple interest if

total interest is ¥ 519 after 3 years then find
the ratio in which amount was lent.

T 2500 I oI 1 e ®9 H 8% Wiaed o HIERo
TS SA1X 5% TR o TR0 = 9 FUR & 7 1 4fE 3
T A W et =t T 519 B 6 T w5 v i 5%
firerd =1 < & ufer for g # sur € )

(A)3:2 (B)16:9

C)17:8 (D)16:5

A man invested some part of ¥ 10,000 in Axis
Bank with 10% rate of interest and remaining
in RBI with rate rate of interest 20% per an-

num. After one year nine months he gets ¥
2100 as interest. Find amount deposited in RBI

Study Center : Delhi (NCR) * Mukharjee Nagar « Alwar
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18.
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20.
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TF = T 10000 FF 07 7 F9 97T Axis % H 10%
ik & W 199 e & 991 99 9 RBI §% § 20%
afid AR FEm AT g | 199 9 9 916 38 F T 2100
TS AT BT &, e 6 A gt RBI1 S § v
eI

(A) 2000 (B) 8000

(C) 3000 (D) 3500

Jitendra lent 3 persons x, y and z at the rate of
15%,12% and 10% respectively. Ifhe gets 3960
at the end of year then find the amount lent to
xr

= AT 7680 A= x, v, z T FAW: 15%, 12%
SR 10% T =er 53 | 9fk 96 % ofn # =8 o T T 960
TS % T H AT GO AT x F S TS A9 [0E Ao
(A)T 1680 (B) T 1550

(C)¥ 1920 (D) ¥ 2020

A man invest ¥ 80,000 in three Bank-P, Q and
R. Which simple interest are 15%, 16%, 27%
respectively. Investment in Bank-P is 20% of
the investment in Banlc-R. If after 2 years to-
tal T 36.400 investment. Find the investment
in Bank-Q

W AEH 919 5% P, Q 991 R ¥ T 80,000 fow i & |
Foreen TN =T B S AT 15%, 16% 121 27% T |
% P H T 9% R % o =1 20% ¥ | 7R <1 & 9
faen 3t =1 T 36,400 7, 1 ¥ Q § few %17 af
fRai 2 ?

(A) T 20,000 (B) ¥ 15,000

(C) T 10,000 (D) T 25,000

A man sold a scooter and a car at ¥ 30,000. If
he gains 20% profit on car and loase 10% on

scooter. If he gets 10% total profit then in how
much he sold the car?

T AR T R A Wk SRR T 30,000 | e € w:R
I 20% FITH TN FFR I 10% T 58 a1 T
10% =1 T4 2T o1 7 1 = fiFas w04 | o 2

(A) T 30,000 (B)¥21,818.18

(C) ¥ 33,000 (D) T 20,000

A man buys two tables at a total cost of ¥ 480. If
the loss on first table is 15% and the profit on

second table is 19% and the S.P. of both tables
are equal. Find the C.P.

T HAE 3 HS ] 480 % w1 wHEA & 9% T W H 15
wfem 1 % a1g 701 gl W 3 19 v Y % 9%
Torra o 9 &, @ S gl okl sk o 9 Rifag—
(A) T 280, 200 (B) T 220, T 260
(C) T 240, % 240 (D)Z 210,270

21.

22,

23.

24.

25.

At avillage trade fair a man buys a horse and a
camel together for Rs 51,250. He sold the horse
at a profit of 25 % and the camel at a loss of 20
%%. Ifhe sold both the animals at the same price,
then the cost price of the cheaper animal was
Rs .

S T W TE A 7 T S 87 T %2 G e
51,250 % H B2 | S99 FIE I 25% o4 R S 92 i
20% BT 92 3 Tz | Af =9 Sl Seei= TAE e T

A= T SR T AT Hod T, T

S8S8C (T-11) 2017 | 17 Feb.
(A) 6600 (B) 7500
(C) 25000 (D) 20000

The ratio of the quantities of sugar, in which
sugar costing ¥ 20 per kg and ¥ 15 per kg, should
he mixed so that there will be neither loss nor
gain on selling the mixed sugar at the rate of ¥
18 per kg, is:

<1 w1 /1= w7 STt == g s W 20 ufa Tk iR
7 15 el T A A e AT T el & ofT T 8 @
2 % v o9 T 189l fRal o fzame § s=r ST E,

ST T F
Ay 2:1 By1:2
() 4:1 (D) 3:2

In what ratio must ‘a grocer mix tea at ¥ 60 a
kg and T 65 a kg. so that by selling the mixture
at T 68.20 a kg he may gain 10%?

T 60 FF e & T 65 W fF =it == & fram =
frem £ 5 9o 1 T 68.20 wft e o &= s g o
T 1 0% =1 TN T I 5 T ST T 2
(A)3:2 (B)3:4

(C)3:5 (Dj4:5

MEH bought 100 kg rice. Some quantity of them
is sold at 8% profit and some is sold at 18%
profit. Therefore overall profit is 14%. Find the
quantity of rice part (7: 8% profit.

MEH ¥ 100 T =maa Tiis | 399 W F5 =5 8% o4
WAA TS 18% a9 W7 501 59 7% T Fa 14%
TN 8% TN T PR =rere 5 T |

(A) 60 (B) 20

(C) 80 (D) 40

A shopkeeper had 50 Kg. rice. He sold one part
of it at a profit of 10% and on the other, he
losed 5%. His total profit was 7% on the whole
transaction. How many Kg. rice was sold at a
profit of 109%?

Trelt =t % T 50 P A © o T e e
10% NN W o=l § a1 9T 5% &I g1 9T =l & | el
FrereRT S8 7 WTevE = e B e | SHA 10% o 7 iR

1A W=
(A) 40 fFm. (B) 30 fFm.
(C) 15 fm. (D) 20 .
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29.
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A man sold a buffalo and a cow for ¥ 2600. He
sold the buffalo at a profit of 25% and the cow at
a profit of 20%. In this way, his total profit was

1
23 1—,,%‘ Find the cost price of the buffalo and
W

COWwW,
Tk AEHT 4 T 2600 § U 94 s g e 9= | g W
TH 25% 1 T FAT SR TME W 20% 1 A1 TAT | Fed

- 1 v "
Trere 39 Qsﬁ%rﬂ?ﬂ‘qgam T 3 T & SATT-

STETT AT RN 2
(A) 1600, 1000 (B) 1500, 1100
(C) 100D, 1600 (D) 800, 1800

Devansh purchased a book and a pen for T 1260.
He sold the pen at a profit of 32% and the book
at a profit of 25%. In this way, his total profit

1 . .
was 29 5% . Find the cost price of the pen.

AT T GE0F G T I H T 1260 T | sE T A
32% TN TR T THTF FH 25% TN T I 58 TWE THH

1 .
Fe1 295 Y0 T I | N T HeA I A |

(A) T 420 (B) T 520
(€)T300 (D) T 740

A man buys 3 type-I cakes and 6 type-Il cakes
for T 900. He _sells type-l cakes at a profit of
15% and type-ll calkes at a loss of 10%. If his
overall profit is Rs.30, the cost price (in ) of a
type-I and of a type-I1 cakes is

I3 oI 2591 % 3 o 3R 2911 % 6 %% € 900 #
e % | 5% =5 91 % ok %1 15% o8 T S € -1
ekl 10% 71 v E=a & | A 39 o1 T 30 = T gl
2 a1 259-1 ST ZS0-11 % % &l 9 g (T H ) Fa3Y
5

S$8C CGL Mains 2016
(A) 100, 100 (B) 160,70
(C) 180,60 (D) 120,90
A shopkeeper buys some articles in ¥ 234. He
sells 2/3 parts of at 15% profit. At how much %
he should sell remaining that he gets 12%
profit over all.
TF TFER F8 7500 T 234 # giem § 198 2/3 T
15% T TR A= © a9 geT e = T whaem e
TR 5= G0 A Fe e 12% T El-
(A) 8 (B) 6
(C) 10 (D)9

30.

31.

32,

33.

34.

A man buys 2 chairs in ¥ 900/-. He sells Ist
chair at 5/4 of its CP and 2nd Chair at 4/5 of
its CPin whole transaction he got ¥ 90/ - profit.
Find the CP of Ist chair.

T ST 81 A 000 T H Tiea & | 98 Teet FE A
TEF FH, T 5/ 4 TSR GH FH A ITE FAF 4/ 5
A A S| R AT T H 34 90 T AT SO E | 1l

Tl B ., AT AL |
(A) T600 (B) ¥ 500
(C) T 400 (D) 650

A man buys 20 pens and 16 pencil in ¥ 360/-
he sells each pen at 25% profit and each pencil
at 40% profit and he gets 120/- profit in whole
transaction. Find the CP of one pencil.

T =R 360 T H 20 FaH 3R 16 e wiwm #
=G FIT FHEH 25% T T a1 I i 400% 1 W
a9 A E P AT S H Y 120 B W Tl E, a@
Yo A 1 ., T

AT 13.50 (B)T 14

(C) ¥ 12.50 (D)T11.50

A man purchases 606 oranges at < 72 per
dozens Some oranges got stale and were sold at
T 4/50 per orange and remaining oranges sold

2
at a profit of 25%. If a profit of 165% was

earned in the whole transaction, find how many
oranges got stale?

T = 606 T T 72 Ui To | T ¥ | ¥ T
TE 2 T T T 4,50 T Se0 9 9= ©oadn 39 "=

. . s a2
T 25% TN T A & | A T o S H 16 2%

T g3 A Fha | T 71 g ?
(A) 404 (B) 101
(C) 200 (D) 202

A man purchases two fans for ¥ 2,160. By sell-
ing one fan at a profit of 15% and the other at a
loss of 9%, he neither gains nor loses in the
whole transaction. Find the cost price of each
fan (in ¥)

TF AR 9 W T 2,160 H TliTW E | T 9 A A
HZH 15% 1 71 1 TER 1 5= F 59 9% i g1 gt
F, WA ST H =4 7 o o g i A E w1y v

A HEE I ?
(A) 710, 1450 (B) 1530, 630
(C) 810, 1350 (D) 1340, 820

A man buys a table and a chair for Rs.500.He
sells the table at a loss of 10% and the chair at
a gain of 10%. He still gains Rs. 10 on the whole.
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37.

38.
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1S =AUk #l 31 Tok H&T T 500 F BRiea ¥ | =g 3
10% =l g1 W SR 10% o o W a= a1 2 | R o
=8 Fa e X T 10 T o1 a1 8 | 1 1 o HoF TuE

¥ Famgn ?
(A) T 200 (B) T 250
(C) T 300 (D)% 350

A shopkeeper buys 4 buffalo and 8 cow in
10,000 her sells each buffalo at 15% profit and
sells each cow at 10% loss if in whole transac-
tion he gets T 500 as profit. Then find the dif-
ference between 1 buffalo and 1 cow.

TF THFIR 4 9 791 § 7T 310,000 # wiea € 7 da ™
TH 15% T T A T 10% I B et € A SH e ey
T 500 T1,01 TF W A4 TF T T HI oI H FAR T

Afer—
(A) T 1500 (B) T 1800
(C) T 1300 (D) T 1000

A man bought 5 horses and 7 cow's of ¥ 5,850.
If he gains 10% profit on horses selling and
16% profit after selling the cows. [fhe gains ¥
702, then find the cost price of each horse .
w5 5 FIE a1 7 T 5850 %, Wi Wiear & wig we W
TH 10 W T a1 T W 16 wliw W e g § 9t
TH FA A4 702 T. T, TF HIS A o I HirsTd—
(A)T 720 (B)T 780

({C)T 700 (D)y¥ 730

A man has 1680 pens and he categorized all
the pens into three types such that he earns a
profit of 22%, 26% and 30% respectively on
each type. He earns 23% profit o first two types
and earns overall profit of 25% on all types. Find
the numbeér of pens in first types.

T ies o WM 11 TER & el 1680 oW ¢ | fom maw
HHT 22%, 26% ST 30% I O STSId AL € | TE &
TR ok SReTHI UL AR 23% ST HT TR 25 % 1 e HHI T |
TH YRR % HefHl ol S hHg: 57

{A) 900 (B)400

(C) 450 (D) 200

A man buy 560 pen and divide them into quan-
tity parts such that he could earn profit of 12%
pulse 16% and 20% respectively. Ifhe earn 13%
profit on first two parts and 15% profit on all
three parts then find the number of pens in
second part?

T SEHT 7 560 U1 % = 3= 9 9=l & 59 7R
af21 7 9% 3% A 12 Wi, 16 Ffe 7 20 wfawm @
AT T | AR TE TEE & ST TR 13 AR T we
ST = ST o et e 15 wivm e e 8, A

T S T T TR A 2
(A) 60 (B) 90
(C) 40 (D) 100

39.

41.

42,

13.

450 toys are divided into three types A, B & C.
All three types of toys are sold at the profit of
9%, 10% and 12% respectively. Overall profit

3
fromtype Aand Bis 9 7 %o . Overall profit from

the three typesis 10%. Find the number of toys
kept in all three categories A.

450 fiaem =1 7 TR # A, B, C ® @ @ & ) it
TR & Taa =i e 9%, 10%, 12% & a0 WA=

; - 3 . -
T A SR B Y e # 9?% I E3AT a1 i1 TR
faei =i § 10% T Fa e 5o A § FFm-TFm faeim

peci 1
(A) 100 (B) 150
(C) 200 (D) 300

T 39 are to be divided among 65 students of a
class. If each of the hoys gets 80 paise and each
of the girls gets 30 paise. Then find out the
number of boys and girls in the class?

T T 65 Tem § 30 T 1 T AR T Aeh
=i 80 T4 Toera & aei Sk org=i =1 30 V¥ fHer % a1 =4
FAT H TE 01 IR 1 T T R ?

(A) 37, 28 (B) 39,26

(C) 42, 23 (D) 40, 25

T 43 are divided into 50 students. Each boy re-
ceive 94 paise and each girl receive 69 paise.

How many heoys and girls are present in the
class?

50 qel | T 43 91 T | T TeE W 94 T8 f7E g
T Tt 1 69 TR et | 4 wan # PR - wetRd

7
(A) 34, 16 (B) 35, 15
(C) 10, 40 (D) 40, 10

7 41 are divided into 100 students. Each boy
receive 90 paise and each girl receive 635 paise.
How many hoys and girls are present in the
class?

100 o= # T 41 A T | FoF TEE F 90 T 7w
T T 65 T 7 | A e W Ra Teth- TSR § 2
(A) 60, 40 (B) 40,60

(C) 70,30 (D) 68, 32

7 69 is divided among 115 students in such a
way so that each boy gets 50 paise more than

each girl. Each boy gets double amount than
each girl. then find the no of boys.

269, 115 forerfeRi # 7 ot we w1 € 7 v ae,
T TSF & 50 H9 ATF W = ¥ | T ag,
I O W O T AT 1 €, A SR e =
FifsTa-

(A) 25 (B) 23

(C) 27 (D) 29
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A cricketer makes some runs in 15 innings.
He makes 85 runs in sixteenth inning and by
this, his average runs exceed by 3. What is the
average of his runs after sixteenth inning?

e % O TEene 7 15 M A 5 WA | 169 |
TEH 85 T A G T SO o0 W e e A A W
aAfern 21 1 1691 W % A faarst # i W g

fpaai® ?
(A) 37 (B) 40
(C) 43 (D) 45

A bhatsman has certain average of runs in 11
innings. He made 90 runs in 12th inning. As a
result of which the average of his runs de-
creased by 5. What is the average of his runs
after 12th inning?

e eetars 1 11 9 § i %1 siad €1 124 ad 8§
IEH 90 T =AY Foeek Foteersy 6 Tl %1 3ied 5 %9 g
AT | 124 IR A =TS 6 Tl ok A

(A) 140 (B) 145

(C) 150 (D) 145.5

A batsman has a certain average of runs for 12
innings. [n the 13th inning he scores 96 runs
thereby increasing his average by 5 runs. What
will be his average after 13th inning?

Torelt e 1 12 Wi w1 v aftee €1 18-
T e 06 T A | e e ofeaH 5 wiw gt
B S 7 | 1 3T KT 3 9T SHT ST FM G ?

SSC CGL Mains 2016
(A) 28 (B) 32
(C) 36 (D) 42
Average Run per wicket of a howler is 11.5. In
his next innings bowler took 5 wickets and con-
ceded 40 Runs, there by he reduced his bowl-

ing average by 0.5. Find total no. of wickets
taken by him.

T et = oiea T W e 11.5 % 1 ovrelt it ¥ e
gt 40 W St 5 forhe ofar 81 forad sEer et
3d 0.5 F g1 <1 ¥ | 9t Tesst 5 ford 78 et el

o1 Hez Tl g ?
(A) 20 (B) 35
(C) 15 (D) 17

Zaheer lkhan whose bowling average is 12.4
runs per wicket takes 5 wickets for 26 runs
and there by decrease his average by 0.4, Find
the total no. of wickets ?

49,

50,

S51.

S52.

STER @ ferert faastt sfEa 12.4 T wfa 2 2 197 26
T R 5 Todke o1 2 foed o9 0.4 72 s 8 @1 3e
fernal =ht W fararl gt ?

{A) 70 (B) 80

(C) 90 (D) 100

The average of bowling of a player was 12.4.
There is an improvement of 0.2 in the average
of bowling of the players, when he takes 5 wick-
ets by giving 26 runs in his last match. The
number of wickets taken by him before the last
match is:-

W Tohohe TEetrel =h1 Tiearsii =1 3iieg 12.4 o7 5« 98
AT A= HE H 26 T 3¢ 5 Tk Tan 8, 1 ek ears
% Sirad H 0.2 3 1 GuR o1 ST | At EE 9w

T T T T foRRd e ot 2
(A) 125 (B) 150
(€175 (D) 200

Average weight of boys is 30 kg. While average
weight of girls is 15 kg and average weight of
totalclass is 25kg. If the no of hoysis 40. Find
the no. of girls ?

e il ST gem 30 Fret & | wrefEl = oftea aem 15
fereTT =7 gkt ke =1 Sitaa =15 25 el | 3R ikl i
& 40 T, T Isial i T T Hiferi-

(A) 30 (B) 40

{CJ] 50 (D) 20

In a class boys and girls are in ratio of 3 : 1.
Average marks of boys are (A + 4] and average
marks of class are A. Find the average marks
of girls.

T e H ooh St wsfeal a3 0 1 E i osH %
T 37 (A + 4) 3R e % i s A, 0 At &
i 219 T Hifer-

(A)A-12 (BYA+12

(C)A-8 (D)A+8

In a class hoys and girls are in ratio 2 : 1. Aver-
age weight of boys is 30 kg and average weight
of girls is 15 kg. Find the average weight of
class.

T T H, TSR SR oTgforal o1 ST 2 ¢ 1 & | 759!
aitea R 30 foret silt wgfwal =1 ffam wK 15 fell 21

T T ST 9T 90 F A
(A) 20 (B) 30
(C) 25 (D) 35
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The ratio of number of girls to number of boys
is 1 : 2. If the average weight of the boys is 30
kg and the average weight of both the boys and
girls be 25 kg, then the average weight of the
girls is :

TS 11 TSRl 1 ST I ST 1 : 2 F | °fE Tl
Sira oot 30 TR, § of e aon SefEal gl ofem
aor 25 et T 7, o 31 R oielRal w1 SiEd oo T 7
(A) 20 (B) 40

{C) 30 (D) 15

The average weight of a class of 40 students is
30 kg and theaverage weight of a class of 20
students is 15 kg. Find the average weight of
both the classes combined.

T Fedl % 40 BT 1 ST o1 30 TR, e <ol wear 5
20 BT 1 SiET 7o 15 fRun, &1 <91 wansil B faert

e R R e e (e T
(A) 20 (B) 40
(C) 30 (D) 25

In a class, The ratio of no. of girls to boysis 1 :
2. Ifthe average weight of boys is 40 kg and the
average weight of the boys and girls are 35 kg.
Then the average weight of girls ?

TF FaT W, TSl a9 egdl A o wEe: 1 2 At
A A ofE MR 40 TR it oew qon g A
sired YR 35 foun & d9 A orsfwal e m = 2
(A) 25 kg, /TFm. (B) 20 kg, /.

(C) 15 kg./F==m. (D) 35 kg. /.

[n anfexamination average marks obtained by
thegirls of a class is 83 and the average marks
obtained by the boys of the same class is 87. If

the girls and boys are in the ratio 4:5, average
marks of the whole class (approx) is closest to.

T el ! TSl =1 T4 H ITickl o1 3794 85 ¥ 31T
T TR H TS % WA w0 S 87 ¥ | Afe et
3R TgH 45 W IgUa H ¥, 9 W wen * siwa ofw

(sTAra: ) fea & 7 SSC CGL Mains 2015
(A) 86.4 (B) 85.9
(C) 86.5 (D) 86.1

Three Science classes A, B and C take a life
science test. The average score of class A is
83. The average score of class B is 76, The av-
erage score of class C is 85. The average score
of class A and B is 79 and average score of class
B and Cis 81. Then the average score of classes
A, B and C is.

58.

59.

60.

61.

1 formm =t et A, B it C Sfier o ol wlien 2di ¥ |
wefT A % ST 31 83 ¥ 1 e B % A9 Fk 76 T | e
C % oivoa o 95 ¥ | FaT A o B % offwa ofF 79 oi
T B i1 C % oftom ot 81 © 1 FaT A, B 3t C % sitom

o FFaa g ? S$S8C CGL Mains 2015
(A) 80.5 (B) 81.5
(€) 81 (D) 80

The average monthly payment of workers in a
workshop is ¥ 8,500. If average monthly pay-
ment of 7 technical expertsis ¥ 10,000 and that
of the rest workers is ¥ 7,800. Then find out
the number of total workers in the workshop?

Torett rromen & aftrei = wfheE Siem 9T 8500 TR T |
A 7 Tt s o Afess S S 10000 T 81
SR 3 At = Fifaek sirea 3 7800 TUE ), T e
H e gt & B qE g ?

(A) 18 (B) 20

(Cy22 (D) 24

The average consumption of rice in a family of
8 adults/and some children is' 10:8 Kg. While
the average consumption for adults is 15 Kg. per

head and that of children is & Kg. per head. Find
out the number of children in the family?

13 ig a9 @ AEeri % iR § ufa =@ afa 9=
=Tae &1 S8 wa 10.8 fmm & Sl diel % fog wia
AT Sa @I 15 TR aeon Araner & g = vl =
6 ToFn & | o # Fatert it T T ?

(A) 8 (B) 6

()7 (D)9

The average monthly production of a company
for the first 3 months is ¥ 4,000, What should
be the average monthly production for the next

months so that the average monthly produc-
tion for the whole yvear becomes 3 4,3757

I HET WG T ST AR S ¢ SHE 3Ed Ted 3
TERT = 4000 ¥ | ST O HE I A W A e 3 fat
TEIT T AT G H gt = A o 43757 ?
(A) 4500 (B) 4600
(C) 4680 (D) 4710
An Army of 12000 consists of Europeans and

Indians. The average height of a European is
5ft 10inches and that of an Indian is 5ft 9

inches and that of the whole army is 5ft 9%

inches. Then the number of Indians in the
army is ?
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12000 AT w1 A1 o gl w6 siiY ardE seE §
[t s s T 5 B 10 19 € o e
Sl I AT o 5 FE 9 39 ¥ a9l Ty 94 &

-, r 3 5 = 'y L ‘
#irm TR 5 e 91 =T A o S w5

e F I 7 8S8C CGL Mains 2016
(A) 3000 (B) 4000
(C) 5500 (D) 2700

The average monthly salary of all the employ-
ees in a factory is ¥ 8840. If the average salary
of all the officers is T15000 and that of the re-
maining employees is T 8000, then what is the
percentage of the officers among the employ-
ees?

Tt Soepertt B wedt == = ofrea 99w T 8840 ®Afg
Tt s1feRITEl o 3T oeq T 15000 31| 99 =i
o 31rEE S T 8000 Al wH=al § srfemniiEi o wiasm

PR 2 S8C CGL Mains 2016
5 1 2
. = 8— 11=
A 12 (BSOS = (C) 3 (D) 3

The average salary of all employees of a com-
pany is ¥ 5000. The average salary of male is 3
5200 and the average salary of female is T 4200,
How much percentage of male are in the com-
pany ?

T oAt | it =T = #ie o= T 5000 1 ge
1 &fm o T 5200 ¢ o Afeenst # oo 9m7 T
4200 % | o1 e wiorem 9w & 2

(A) 60 (B) 80

(C)90 (D) 100

The average salary per head of all employees
of a industry is ¥ 600. The average salary of
120 officers is T 4000. If the average salary per
head of the rest/of the employees is ¥ 560, find
the total number of workers in the industry.
Tk S5 § HHisRE=11E w1 sired 3a T 600 wid =aid
%1 120 srfimiten =1 oftwa 377 T 4000 § 1 3 A o=
st o i 3 T 560 wf s 8 1 g et
Eakste e piceil

(A) 10320 (B) 11540

(C) 10030 (D) 10200

The average daily wages of staff. consisting of
supervisors and lahourers, of a company is T
50. The average wages of supervisors is ¥ 150,
while that of labourers is T 40 per day. If the
number of supervisors is 15, find the number
of labourers in the company.

67.

68.

69.

TF FTA % W F AR SR TGl F e =
3 9a7 ¥ 50 ¥ | gIRAESR = sitEd Aa7 3 150, wefk
FSTE Il STHa 90 T 40 ¥ | Al T YRAESR Hi HE

15 ¥ 9 et TToTgl T WEA S w0
(&) 170 (B) 100
(C) 200 (D) 150

In a team of 10 persons, nine persons spent ¥
40 each for their meal and the remaining one
spent ¥ 9 more than the average expenditure
of all the 10 persons. The total expenditure for
their meal was SSC CGL Mains 2014

10 =afaEt = 2 H, t=atwat 3 5T oo R A T 40
T Ry i 3 e =t A w10 st & e ed 9
3 9 s1fyes @= forw | =7k s et fonan =@ ga7 ?
(A)T410 (B)¥610

(C)T 510 (D)T 310

The average weight of fivst 11 persons among
12 persons is 95 Kg. The weight of 12th person
is 33 Kg. more than the average weightl of all

the 12 persons. The weight of the 12th person
is : SSC CGL Mains 2014

12 it Tedt 1 LT = dfea a9 95 Fam g1 129
i e 12 S o &g g 9 33 T i g, i
12 =feh =1 A5 gl < ?

(A) 128 Kg. / f¥m. (B) 97.45 Kg. / 7.

(C) 128.75 Kg./ . (D) 131 Kg./ =

Gold is 19 times heavier than water. Copper is
9 times heavier than water. In which ratio gold

and copper should be mixed so that mixture is
15 times heavier than water ?

T, T W 19 T 9 T ST Aven, I § 9 T A E)
okl T argvma | fiyemn < f fagor ot 9 15 T ai
27
(A) 3
(€ 2:

2 (B)

i ]

Aliquid Pis 1 % times heavier than water. Wa-

2
ter is 1= times heavier than another liquid Q.

How many litres of liquid P should be mixed with
the 21 1t of liquid Q, so that we weight of mix-
ture is equal to water ?

w7 P ge 1; T T | T R T

Q F geT H 1%@%%|%WP%W21 tQ
Tied, T femr = oo Ot 3 SR B W 2

(A) 21 (B) 14

(C) 28 (D) 18
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There are deers and ducks in a zoo. If heads
are counted then there are 180 total and if legs
are counted then there are 448 total. Find the
number of deers and ducks.

T fafearn & firm off oaw € 19t 0 fm il o At
180 & 31 W fi o1 47 448 ¥ 1 91 55 o fe sfiw o

g7

1D P
A) 44, 136 B) 144, 36
(C) 36, 144 (D) 136, 44

There are pigeons and rabhits in a zoo. If heads
are counted than there are 90 total and if legs
are counted then there are 224 total. Find the
number of pigeon.

T Fafearr # 39 Fam o ' ¥ | A e Tl =
Frrsmd 3 90 ¥ o I fr o &1 224 ¥ | fra Fam € ?
(A) 70 (B) 62

(C) 68 (D) 80

In a parking there are 2 wheelers and 4 wheel-
ers and there are total 520 wheels and there are
total 175 vehicles. Find the no. of 4 wheelers.
T i § F arafaa SR Safem o § 1 Fa faem
520 qfgd & iR 175 o & | Srafean a1 &1 He 7.

it
(A) 115 (B) 85
(C) 75 (D) 125

A person travelled 80 km in 8 hours partly by
cycle and partly on foot. Speed of cycle is 16
km /hr and speed on foot is 8 km/hr. Find the
distance travelled by cycle.

TF STEH 80 T F gt 8 v § 1 WA © o g
el | a9 Fo Yoo MRl w16 e Sae
3R el =i a8 el Fe1 & | <t 359 wsfera 9 e
Pl =8 T

{A) 38 (B) 32

{C) 60 {D) 40

A person travelled 61 km in 9 hours partly by
cyvcle and partly on foot. Speed of cycleis 9 lkam/
hr and speed on foot is 4 km/hr. Find the dis-
tance travelled on foot.

TF e 61 B % gt O s F T & o 3w
ARl © 720 Fo 5l | A AEtEe ® o s e
it e o1 fa 4 Faeft o % @ e Sew fead gf 7
i ?

{A) 16 km (B) 18 km

(C) 20 km (D) 50 km

A person travels 100 km distance in 10 hours.
Some part is travelled on foot with the speed of
7 km/hr and remaining part by bicycle with
the speed of 12 km/hr then find the distance
traveled on foot ?

76.

717.

78.

79.

TE=E 10w 100 et i w=a e wEs gt
7 TohHY. T skt =Te § e ¥ STk 9 g3 g4 12 fwets
U] 2] AT W =S U TF Rl 2, °1 Serehd a9 whi T

= fort & -
(A) 28 (B) 30
(C) 72 (D) 70

A person travelled 270 km in 9 hours partly by
car and partly by train. Speed of car is 36 lem/
hr and speed by train is 27 km/hr. Find the
distance travelled train.

TF 1A 270 T # gh o He H w www € o g
FR W T Fo OO V| FwT A A 36 L A o
TSt =i vfa 27 ThHt/ = g | S5 sl | e el

Tl = & ?
(4) 170 (B) 160
(C) 162 (D) 100

Two trains running in opposite directions cross
a man standing on the platform in 27 seconds
and 17 seconds respectively and they cross
each other in 28 seconds. The ratio of their

speeds is

T O TR foonsti § o e < e wew W
e UF S il shH9: 27 Bhos qe1 17 s H IR B!
& 2 UH-GER &l 23 ARUS H N HAl E | SAH el

(A)2:3 (B)4:3
(C)3:2 (D)3:4

A and B can do a piece of work in 12 days. A
starts the work and after 8 days left the job,
now the remaining work finished by B. If total
work finished in 28 days, then in how many
days A will do it alone.

A SR B et w1 12 i & quantd 1 A % 1
T 3R 8 o a1 1 WigahT < T § 1 9= g3 FE B
T LA E | AR QA 28 FAH gen a7 oFRen A TR R

W T T W ?
(A) 36 (B) 18
(C) 12 (D) 16

A and B complete the workin 12 days & 20 days.
B starts the work and after some days left the
joh, now the remaining work finished by A. If
total work finished in 14 days, then how many
days B works.

A AR B T ®H #1112 fim ok 20 A d o €1 B
M I N 2 ST 0 67 a1 Bt = ST € | A 9=
TNFE WM AR W EW 14 TR A g B
T 7 =m -
(A)9
(€) 5

(B)o
(D) 8
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80. A lahour was employed for 30 days and every

81.

82.

83.

working day he gets ¥ 10/- as a wages and on
every holiday he is punished by fine of ¥ 2/-
and at the end of month he gets ¥ 216/- as to-
tal wages. Find the no. of working days.

T 7ot & 30 Bl & o =M = @ T iR vem
FE 5 TLO A9l & T SR e gedt W T 2 st
T | A0S Fe A A o A 34 T 216 et a1 i e wt

T T T
(A) 23 (B) 24
(C) 22 (D) 25

There are 12 pipes connected to a tank. Some
of them are fill pipes and the others are drain
pipes. Each of the {ill pipes can fill the tank in
8 hours and each of the drain pipes can drain
completely in 6 hours. If all the pipes are kept
open, an empty tank gets fill in 24 hours. How
many of the 12 pipes are fill pipes ?

THEH Y 12 TS § | T § B TET 9 I T 3R
= e I Frohet o € | T T oTe TIsd 8 7 H
ok T R Hohd § ST Uk Gl A ST g 6 T
I T © wrel #R gk ¥ | 9 goft wigw get @ W €, @
Tk WTeAl 2ok 24 ¥ H w1 &1 12 wsdl o | oo g
T A F 2

(A) 5 (B) 3

€6 (D)7

In a test there are 400 questions, for each right
answer, students gets 'S marks and for each
wrong answert, students losses 4 marks. A stu-
dents attempt all the qliestion and he gets 317
marks. /Find the ne. of Wrong answers

et TiET § 400 W €, WO TRl 5T °F fote 5 o e
W E ST T TR S R e 4 i e o W £ 1T
T weft T TR TR &R 317 ofF We wa ¥

(A) 180 (B) 213
(C) 187 (D) 180

There are total 250 questions, for each right
answer students gets 3 marks and on every
wrong answer he losses by 0.5 marks. [f he gets
total 477 marks and he attempted all questions
then find the no. of wrong answers.

T e § 250 W B, Yo TE S % forg 3 3w e
T SN aeTE el S A i 0.5 3k e ford S ¥
ok o F Tl 1 S 1 T ST 477 3ok W A E |

3 fohm 3 e fed ?
(A) 75 (B) 80
(C) 78 (D) 76

84.

85.

86.

87.

88.

89.

Ratio of expenditure and saving of a manis 5:
3. His expenditure is increased by 9% and in-
come is increase by 15%. Find the % increase
in his saving.

TF A = S 9= F eTIE 5 0 3 F 3w o
Q% FET AT € ST ST 1 5% FER At & | S o= H

ot wferere 7f5 g 7
(A) 20 (B) 30
(C) 25 (D) 35

Ratio of expenditure and saving of a man is 4 :
3. His income is increased by 35% and expen-
diture is increased by 26%. Find the % increase
in his saving.

TF AR F o5 o1 o= i oI 4 ;3 ¥ | S oA H
35% s =@H 26% F A G EETE | a7 H ge.aiE v
A =L

(A) 45 (B)43

(C) 47 (D) 51

Ratio of weight of Aand B is 4 : 1. Weight of A
increased by 12% and the total'weight in-

creases by 25% then find the % inereases in
the weight of B.

A SR B TRASTTa4 : 181 A= 9T 12% w@ae
ST T X 25% WEA © | I R0 T % TR B #
BT

{A) 77% (B) 67%

(C) 72% D)62%

[n which ratio the rice of ¥ 3.10 per Kg should
be mixed with the rice of ¥ 3.60 per Kg, so that
the mixture costs become ¥ 3.25 per Kg?

3.10 ¥ o P & == F 3.60 ¥ wi ma F
e W S ST W THeE S A e e
3.25 w9 gia . =1 <4 ?

(A)7:3 B)7:5

(C)7:6 D)7:8

In what proportion must a grocer mix sugar at

¥ 12 akg and ¥ 7 a kg so as to make a mixture
worthT¥ 8 akg?

% TRACR TR oA | T 12 Wi e awtt ik T 7
Wit frm =ett =it =i fatsa = fE frsm m e T8 7R

faFm. o= = 2 $SC CGL Mains 2016
(A) 7:12 (B)1:4
(C)2:3 (D) 12:7

Two types of rice of rate ¥ 11 /kg and T 21 /kg.
Find the ratio of two types of rice of obtain a
mixture of rate T 17/ kg.

T YR ok =Eel wHeE T 11/ fem s iR T 21 /fFm g
51 &1 =re i fo stgum § fRar fn frgm st i 3
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A)4:3 B)3:2

C)2:3 D)3:4

Two types of sugar of rate ¥ 5.60/kg and ¥6.40/
kg. What quantity of second type of sugar should
be mixed with 20 kg of first type of sugar to get
a mixture of rate ¥ 6.20/kg.

T R A A=+ ea T 5.60 /TR, TR T 6.40/7Fm
% | wef) wTelt 20 Frm e 3 T g A e <
firems = % Tham =t Fi1a T 6.20/fFm. € 9@

{A) 70 (B) 50

(C) 40 (D) 60

The sugar of ¥ 15 per Kg. is mixed with the
sugar of ¥ 20 per Kg. in ratio of 2 : 3. Find out
the cost price of the mixture per Kg.?

15 ¥ wfa FRam. =t =t =1 20 w72 wfa foeon, =t =i+t %
a2 ¢ 3 e o T s ) a9 fagm @ qe wfa
PR, = Emm ?

(A) T 20 per Kg. (B) T 18 per Kg.

(C) T 22 per Kg. (D) 16 per Kg.

Two types of tea costing ¥ 180 per Kg. and T280
per Kg. should he mixed in the ratio so that the

mixture obtained, sold at ¥ 320 per Kg. to earn
aprofit of 20% is: SSC CGL Mains 2014

¥ 180 v fopm. == T 280 wfa fom. wrm =t & foms
=t A T o7 Ia | fren < < TR v fasm 3 ¥ 320
v . = e s T 20% e STfer B 2
(A)1:13 B)2:13

(C)3:13 (D) 413

In what ratio a shopkeepers mix ¥ 20 kg rice
with $.28 kgrice so that by selling the mixture
I30/kg shopkeeper gets 20% profit.

THFAER T 20 ¥TT FRetl et =Ee ®0 T 28 Wi et ot
=eet 3k 91 e U e s f fas = ¥ 30
yfd e & TR T S 9T TRERR F 20% e Bl
{A)3:95 B)3:4

C)3:7 (D)2:7

A shopkeeper blends 2 kinds of sugar of price ¥
33/ kg and ¥ 24/kg in the ratio 2 : 1. If the
ratio of two types of sugar is changed to 1 ; 2.
How much will the shopkeeper save in blend-
ing 100 kg ?

U THMER T TG Fi =T e gea T 33/ e T
24 /fHm. TR 2 1 1 % 31U | faerar § 1 9% 39 < wwr
w1 =T & &g 1 : 2 e fean 99 91 9% $RFER 100

T =1 T 9T P Tog == e ?
(A) 400 (B) 300
(C) 600 (D) 700

95.

96.

97.

o8.

99,

The salt of 42 Paise/Kg. is mixed with the salt
of 24 paise/Kg. When the mixture is sold at 40
paise/Kg., the profit is 25%. If the amount of
2nd type of salt is 25 Kg. then find out the
amount of 1st type of salt?

42 T4 ufa fom. % g #1 24 59 wfa fen. % @ee *
T e s © 1 fgm A 40 Tt e e W
25%, A4 B § AfE T8 Wi ki A1 25 TR, 31 o veet
T =i HIET T ki ?
(A) 18 Kg. /.
(C) 22 Kg. /Fm.

(B) 16 Kg. /.

(D) 20 Kg. / T,

A vessel contains some amount of milk with
16 litres of water. The price of the solution is
90paise/litre. If the price of the pure milk is
108paise/litre, then find out the ameunt of milk
in the vessel?

TEAEATH 16 T gt 3 e e T8 90 ge ® 7 g
1 9o 90 T wft wfizw? Ak 1% 39 FHed 108 9 wf
R G At 1 HITIE bl s | Fhaga 2

(A) 80 litér/ &itex (B) 50 liter/ ==
(€).30 liter/ =i (D) 55 liter/ s

Price of pure milk is T 3.50 per litre and the

quantity ef milk is 40 litre. How much quantity
of water/is mixed so that price of milk mixture

become T 2 per litre.
IS T F HEA T 3.50 U TR & o S 79 40 ot
T\ =99 T ot ot faemar s 5 faga = gea T 2

fdq #iied g1 =T
(A) 30 =z (B) 40 itz
(C) 50 &= (D) 45 &=

Price of a pure milk is ¥ 10 per litre in what
ratio milkk and water one mixed so that by sell-
ing the mixture at ¥ 9 per litre. Shopkeeper

gets 20% profit.

SE R AT LT 10 TR EeT §, 54 o7) e =0 PR srgoma H
et =g foe T 9 wfa o1 % 99 | 991 W, HER
20% T T

(A) 4% (B)3:1

Cy5:2 D)3:2

A shopkeeper buys some milk at rate of ¥ 5 per
litre. He mixes water in it and sells the mixer

1
at ¥ 4.50 per litre and earns 12 E“t) profit. Find

the quantity of water in 1 litre mixer.
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T THFAIR T 5 Ui i<l 7 v © F5 39 Wi & | T
o T AT & S 38 ¥ 4.50 Wi R % o 9= 3

. 1 . .. .
T ¥ TR 125% T AT B | UF e s A

T = AT waT-
(A) 200 ml (B) 250 ml
(C) 300 ml (D) 400 ml

A shopkeeper buys & litre milk at the rate of
T325 per litre. He buys @ litre milk at T300 per
litre. He mixes both type of milk. In what ratio
he mixes water in it so that mixture worth be-
come ¥ 270 per litre.

T THMER T 325 WA o F 6 TR 39 TR © i
T300 WA T A 9 T2 59 WA E | 96 AT HFE F 5o
oI Tt & | o5 599 foha s1m & 7 faey faed sa

ea T270 S e g A |
(A)27:4 (B)4:27
(€)31:4 (D)4:31

A shopkeeper buys 6 litre milk at rate of T540
per litre and 5 litre milk of second type at 3600
per litre he mixes both types. In what ratio he
mixes water in it so that worth of mixture be-

come ¥480 per litre.
T 5HRER T 540 Tt 1 6 Fiex 34 8T TE00 T et
w1 5 et 94 faema ¥ | =g f| srgua 399 9 faemy

o SEEt Fima T480 WA Sited 51 9 |
(A)2:11 (B) 11:2
(€)3:14 (D) 14 :3

In what ratio should sprit and water be added

2
so that the profit is 163% if the sprit is sold at

its cost price?

o qen Wi =i TR &g | e W @t e

L B’ 2(!;"
T T 9= W 16?-06101?11‘14%“[?

A)1:4 (B)2:3

(C)l1:6 D)6:1

A shopkeeper sells milk at cost price and earns
25% profit. He mixes water in it find the per-
centage of water in the mixture,

T SHFER g9 H g wiqem # o fFerd 1 59 =l %69
Hed WA= W 25% 71 JATH |

(A) 10% (B) 11%

(C)21% (D) 20%

104.

105.

106.

107.

108.

A shopkeeper sales milk at CP and earns 40%
profit he mixes water in it find the % of water

in mixture.
T TRER 54 H P wiaem ¥ Ot e = ga o
HEd W W 40% FHATHE B

1
(&) 15% (B) 14 %
4 5
28 =% 56— %
() 287 (D) 56

A milkman sells milks at cost price but he
1

mixes water in it and earn Qﬁ% profit find

the quantity of water in 1 litre mixture.

RS Bl 54 S Hed W= 1Y 9%% 1 AT g3 |
T eftex 34 o7 T 3 g # R e e 2

1 1
(A) 84— ml (B) 837 ml
3 3
C 73l 1 D 93111']1
() (735 m (D), 93

The cost prices of three types of cashew-nuts
are T 482, 3578 and ¥ 698 per Kg. respectively.
[n what proportion these should be mixed, so
that the mixture costs ¥ 566 per Kg.?

T TR % RIS] TR 279 Hoa e T 482, 3 578, F
698 v . & TFe sty & Themn w7 frsm = 9o
% 566 wfa fam. = 2
(A) 12:7:7
(C)10:7:9

By12:8:7
(D)10:7:7

A man purchased three types of wheat. Cost of
1st, 2nd and 3rd type of wheat are ¥ 127 /kg, T
129/kg and ¥ 132/kg respectively. In which
ratio are these mixed so that cost of mixture is
7130 ke.

T AT diH TE % 11 @iiE ol € | Teel W T 127
T, TER w1 T 129 T qen R F T 132 . |
wrdiedl & | 570l foRe a1 | faem o fasor =1 #va T
130 e gt o ?

(A)2 :2:5 By4:2:7
(C)4:3:3 D)3:2:1

There is 10% water in 40 litres of solution of

milk and water. How much water should be
added to make this solution with 20% of wa-
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110.

111.

112.

113.

Mother's sigTitTe « Bism

40 =i g4 ae T % fRga F 10% uH @ 54 fagor
e it ST firerren o @t 20% e B e 2

(A) 1 liter /7= (B) 3 liter /7=

(C) 7 liter /ei=x (D) 5 liter /¥i=x

40 litres of a mixture of milk and water con-

tains 10% of water, the amount of water to be
added, to make the water content 20% in the

new mixture is ;

40 TR A1 ¥ AR T % g F 10% 7 & | feg
# it e o 2 fasmH 20% T ?

(A) 6 L/=. (B) 6.5 L/

(C) 5.5 L/, (D) 5 L/=.

A mixture of 30 litres contains milk and water
in the ratio of 7 : 3. How much water should ke
added to it so that the ratio of milk and water
becomes 3:77?

30 wifeX F T e H gy o 9w omgwe 7 3 F
fagor & foen it SiR faarn s @i g9 R Wt
e 3 7 B 7

(A) 40 L /= (B) 49 L /.

(C) 56 L/=H. (D) 63 L/=H.

300 gram of sugar solution has 40% of sugar in

it. How much sugar should be added to malke it
50% in the solution?

300 TR =T 2 = H 40 Wiror i € 1 5w TRt i
3T Taeng =i =nfew foe® o 59 =ier 1 50 a2l
=y ? SSC CGL Mains 2015
(A) 60 gms/TmH (B) 80 gms/7MH

(C) 10 gms /T (D) 40 gms/TH

20 litres ‘of a mixture contains milk and water
in the ratio 3 :.1. Then the amount-of milk to

be added to the mixture so as to have milk and
water in ratio 4 : 1 is

20 e F g ¥ gE e TR F oI 3 ;1 § T gy
i o=t Ao g & Tt < i g siR w6 74
o 4 ;1 8

(A) 4 litrés. /o= (B) 5 litres. /&=

(C) 6 litres. /&eX (D) 7 litres. /=X

200 litres of a mixture contains 15% water and
the rest is milk. The amount of millc that must

be added so that the resulting mixture contains
87.5% milk is

200 ofieX fagm 8 15% 9 7o 39 yr g ¥ | fago + gy
=t fift Ao ofR fremd i wfE ot fagm F 5w
87.5%%1?

(A) 30 L /.
(C) 40 L/,

(B) 35 L/
(D) 45 L /=

114.

115.

116.

117.

118.

119.

The ratio of milk and wateris 5 : 4. [f 78 liter of
water is added to it then ratio become 3 : 5,
then find quantity of mixture initially?

T o= H gH i T eTIm 5 : 4 1Ak T 78
Wt T ST e faar =iy | =g fagor =6 3gam 3 ¢ 57
T 2 fRger w6t TR He A |

(A) 332 (B) 162

(C) 450 (D) 350

In the mixture of salt and water, salt is 5%, If

20 liter of water get evaporated then salt be-
come 15% then find initial quantity of mixture?

TTF 3 U F TEM A 5% THE ¥ ARG 20 T I
AR G I &, a1 T 15% g1 = € it ST fagm
&l | 97T |

(A) 40 L/=i=x (B) 30 L/wtex

(C) 65 L/wirex (D) 70 L@

In a 12 litre mixture of acid and water, acid is

30%, Then how much water is taken out so
that acid become 40% ?

ST T T 3 12 TR Am | a7 30% © | T ffe e
T TR feren W =t 7 40% TS
(A) 3 L/@i= (B) 5 L /&=
(C) 7 L/t (D) 9 L/t
In 50 gm alloy of gold'and silver, the gold is 80%
by weight. How much gold should be mixed to

this alloy so that the weight of gold would be-
come 95%,7

T AR =S % 50 U G1g § 80% T E | 59 fagug |
T =Rt TRt T TR e s At S 95% B 9 ?
(A) 200 gm /9= (B) 150 gm /7=

(C) 50 gm /aH (D) 10 gm/uH

The ratio of milk and water in a mixture is 3 :
5. We added 10 # water to the mixture then

ratio becomes 3 : 7. Find the initial quantity of
millk.

T W H g o) O ST TE 30 5 % 1§ 10 §ieR
T ST ST o= SR H ST 3 0 7 G o yRe H gy
1 AT ToRaT off 7

(A) 151 Byi1z i

Y20 & (D) 17 &

The ratio of milk and water in a mixture is 3 :
7. We added 10 & water to the mixture then

ratio becomes 1 : 3. Find the initial quantity of
millk.

T g H g o) O ST TE 30 7 ¥ 1 FE 10 §ieR
Tt S =T e o F e 1 3 B AR H gy
1= foe) o 7
(A) 10
(€11 &

(B) 15 1t
(D) 13 &
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Mother's Arithmetic » Mixture and Alligation

A tank contains a mixture of 80 It of milk and
water 70% of the milk and 30% of the water
are withdrawn, therefore 55% part of the tank
hecome empty. Find the initial quantity of milk
and water in the tank.

T 80 o & Zoh! H gy AR uFT w faso ¥ 399 §
70% T8 3R 30% I Feprer foram 1 foe@ <okt 55%
Al 21 STt & df weed H 2ot | e g S Ul o ?
(A) 40 (B)30

(C) 50 (D) 20

A tank contains a mixture of 70 /t of milk and
water. 65% of the milk and 30% of the water
are withdrawn. Therefore 60% part of the tank
become empty. Find the initial quantity of wa-
ter in the tank.

TF 70 TR F FH H g SR T = fgm § 1 3eE §
65% T8 T 30% T F2hre 7 | 1 S5 60% fhgm
TR W U H A PR aet e ?

(A) 40 (B) 30

(C) 20 (D) 50

The ratio of millt and water in two vessels A
and B is 5: 2 and 8 : 5 respectively. In what
ratio these mixtures should be mixed so that

the ratio of milk and water in new mixture he-
comes G : 47

I @ A 7 B % W@ fhami # 3w 9o e R ogue
FAW: 5: 2T 8 : 5T 1A T N W oTgHEeH e
Wi T3 fagor | g aen i 8 $aa 9 ¢ 4 T aE 2
(A)y7:2 (B)5:2

(C)3:2 (D)1:2

The ratio of two liguids/in amixture is 3. : 5 and
that in another mixture is 6 : 1. The ratio in

which/these two mixtures should'be mixed so
as to make the ratio of the two liquids 7 : 3 is

T TR d 51 56l RS0 3 : 5% SRR fAgud 6: 1
T1gA S o = e o | fireren W R S e =
&I 7 : 3ELEW 7 SS8SC CGL Mains 2014
(A) 44 :91 (B)44:61

Cy44:71 (D) 44 :81

Vessels A and B contain mixture of milk and
water in the ratios 4 : 5 and 5 : 1 respectively.
In what ratio should quantities of mixture be

taken from A and B to from a mixture in which
milk to water is in the ratio 5 :1 4 ?

O A o B # g H gu o Tt o m wE 4
1585 18 15m T ® fgm % R o um o o
T fHer ot 2 T ge iR Tt eI 50 4 91 7
A)2:5 B)4:3
(€)5:2 (D)2:3

125.

126.

127.

128.

129,

Two vessels contain mixture of milk and water
in the ratio of 1 : 3 and 3 : 5. Find the ratio in
which these are to be mixed to get a new mix-
ture in which the ratio of milk to wateris 1 : 2.
Ta H 5o SR I eI 1: 3 83 S ¥ 1WA
Tl F Ty =1 R oA | e fFegma 1: 2 9
ST ?

(A)2:1 (B)1:2

({C)3:1 (D)1:3

In one glass millk and water are mixed in the
ratio 3 : 5 and in another glass they are mixed
in the ratio 6 : 1. In what ratio should the con-
tents of the two glasses be mixed together so
that the new mixture contains milk and water
in theratiol1:17

T o A gH SR T 3 ¢ 5 % o H fiemE T © el
T ST o6 A 75 T 6 ;18 | R or3ama 5w weret
= frsmi =1 femen s 72 fham | g4 ST =

ST 1: 120
(A)20:7 (B)S:3
(C) 27. 4 (D) 35:9

Two vessels A and Bieontain milk and water in
the ratio 8 ' &5 and & : 2 respectively. The ratio
in which these two mixtures be mixed to get a

3
new mixture containing 69 E% milk is:

TUE ASRBH Y T A 8 : 58R5: 2%
IR A & | Trsmi =t fopm erqum o T arfs =4 fhgo o

3 N
60— 04 T 2
§16913/63 ?

(A)3:5 B)y5:2

(C)5:7 D)2:7

Two vessels contain mixture of milk and water
in the ratio of 7 : 22 and 21 : 37. Find the ratio
in which these are to be mixed to get a new
mixture in which the ratio of milk to water is
25:62.

QAT H gH ST IR ST 7 : 22 $R 21 : 37 ¥ g
ZI a1 o faam =t faed st | faem 6 st 25
62 TS ?

(A)8:13 (B)17:3

(C) 13:8 (D) 3:17

In an alloy, zinc and copper are in the ratio 3 ;
1. In the second alloy the same elements are
in the ratio 4 : 5. In what ratio should these
two alloys be mixed to from a new alloy in which
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130.

131

132.

133.

Mother's sigTitTe « Bism

T T o foodl ffw sin s oqom 30 1 81 T
ol fag org 99 7 &t g ogwa 40 5 7 <E1 fag
I I T 13 # fAerman sme f6 =0t o g urg 7 : 3

Feoa H e ?
(A)10:3 (B)9:46
(C)3:10 (D) 46:9

In an alloy 80% is copper and remaining is tin.
[n another alloy, copper is 85% and tin is 12%.
In what ratio should the two alloy be mixed so
that the new mixture must have 15% tin. Also
find the percentage of copper in the new mix-
ture.

T frgeng ® 80% FR o 30 7§ 1w oot fhremg o
85% HM AT 12%fe7 &1 77 < Trgengstt =1 o qum
1 E e 6 78 g ® 15% fa 81 qen =g o war i

or 4 frgm & FiR fiFes wfivm € 2
(A)3:5 (B)5:3
(C)2:3 (D)3 : 4

. A bottle of whisky contains 42% alcohol. Some

part of this bottle is replaced by another bottle
of whislcy which contains 17% alcohol. Now this
mixture contains 27% alcohol. Which part of
bottle has been replaced ?

T ot w5 Aed § 42% ToRed § BT SEH | F
Texan TRt 38 17% Tohind Jgfa%ht 9 o5
fean | o7 =4 fagu & 27% uekied & a7 faswmt w1
e e = 2

(A)2/3 (B)3/5

(C) 3/7 (D) 4/7

A bottle of whisky contains 40% alcohol. Some
part of this'bottle is replaced by another bottle
of whisky which contains 19%: alcohol. Now this
mixture contains 26% alcohol. Which part of
bottle has been replaced ?

o Tt FiEae # 40% Tohd € o 9 9 O
o= TRt 38 19% Uohind aid] fa%hi 9 =5
firm | or@ 5w fhgm § 269% TeFea © o Tt = e
fer a@ = o ?

(A)2/3 (B)3/5

(C)a/7 (D) 4/7

Total capacity of containeris 120 litre, in which
milk and water are mixed. 65% milk is drowned
out, 25% water is drowned out. Now the con-
tainer is empty by 60%. Find the quantity of
milk initially.

134,

135.

136.

137.

T Fre T e 120 =t §, g9 ofR W § o gen
T165%, T 3iR 25% <ot a1ed Fapre faan <im ¢ 1 599
FR 60% T €1 S g, @ §Y W YESI w51

Eancd
(A) 70 =i (B) 105 =.
(C) 110 = (D) 100 .

The ratio of milk and water is 7 : 3. How much
amount of the mixture should he replaced with
water so that the amount of milk and water
hecomes equal in the vessel?
T oG | g8 a1 I 1 ST 7 ¢ 3 % fasor o fope
T FIRTETaRE e &1 W1 T 9 A1 &1 3 59 a1
T T | AL S 2

2 2 3

B) > ©

5
e

A jar contained a mixture of two liquids A and
B in the ratio 4 : 4. When 10 litres of the mix-
ture was taken out and 10 litres of liquid B was
poured into the jar, this ratio became 2 : 3. The
quantity of liquid A contained in the jar intially
wWas :

TFI AN ETA SN BN 4 1 F o@ & ¥ | v
fFam ¥ ¥ 10 o =9 et 10 T 59 B o@ =T &
T qF ST 2+ 3 G S E | a9 IR H fase | g A
TRt | off ?

(A) 4 litres (B) 8 litres

(C) 16 litres (D) 40 litres

A can contains a mixture of two liquids A and B
in the ratio 7 : 5. When 9 litres of mixture is
taken out and same amount of the Can is filled
with B, the ratio of Aand B , becomes 7 : 9. How
many litres of liquid A was contained by the

Can intially ?

TEIHAH T 59 AT B wAY: 7 : 5 F oA i ¥
w1 fRgm § T O w7 e 3o B A H 59 B
e fear saT %, Ta SA AT B 1 AT 7 : O § S g
T I H T H 5 A AT TR oft 2

(A) 10 litres/ wifeX (B) 20 litres/ wifeX

(C) 21 litres/ &= (D) 25 litres; @

There are two rings of Gold weighting 18 gm
and 12 gm. In both rings purity of gold is 20
carat and 15 carat respectively. Both are
melted to make a new ring then find the purity
of gold in that ring.
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Mother's Arithmetic » Mixture and Alligation

G i &1 S 18 U E 12 U w1 | Faed gt g
20 2 A 15 B2 T | T Hl A6 T TS 918 STt

(A) 10 (B) 12
() 18 (D) 20

There are two vessels of equal capacity one full
of milk and the second one-third full of water.
The second vessel is then filled up by the first,
the contents of the second are then poured back
into the first till it is full and then again the
contents of the first are poured in the second
till it is full. What is the proportion of milk in
the second vessel?

T T ST A A E | U WH g4 W 90 T S gH
T TAETE T R | T gE T H Tee W fHawm e
W & | fR g o Teet wR H e fhemn W € @
7 T2 TEen T qu W W | iR S e T 9t g
TR H A § T a0 T Y0 T S | T T 9

T T4 ST TR B ?
(A)21:26 (B)25:27
(C)20: 27 (D) 29 : 20

Two equal containers are filled with a mixture
of water and alcohol. One of them contains
three times as much alcohol as in the other.
The mixtures in the two containers are theén
mixed and it is found that the ratio of water to
aleohol is 3 : 2. Find the ratio of water to aleo-

hol in each of the original containers:

T T TR AT 9T TeEE & YT E Wi T S 8 UR
T H g 9 A qE A 3 T e S o € g
i A gt it e = fEae s @ faas e sl
TeRIEH il ST9E 3 2 ¥ | 91 Wed < uE H 9 iR
TRl g ol Rl THId < &1 7

A)2:1,3:4 (B)1:3,1.:2
C12:3,4:1 (D)y1:3:2:1

A 25 liter mixture of Acid 1 and Acid 2 which
contains 55% acid 1 is added to 15 liters an-
other mixture which contains 37% acid 2 and
Mixture D isobtained. If mixture D is added to
30 liters of mixture C and Acid 2 becomes 48%
then how much percentage Acid 1 is present

in mixture C? {All mixtures only have Acid 1
and Acid 2)

TR 1 37T T 2 7R 25 e THAMH 55% o7 18,
15 e % o1 fgm # Toemn smar g, e 37% s 2 &
g1 399 g D v 2id1 8\ 31 fHga D % 30 et
Ty C o Tt =i € 31 375 2 48% 81 511 &, df fagm
C ¥ foram i arwer 1% 7 (wdt fasron o Speret a7t 1 3L
T2 E)
(A) 56%
(C) 48%

(B) 44%
(D) 42%

141.

142,

143.

A vessel contains mixture of milk and water
mixed in the ratio 7 : 3 respectively. If 'y litres
of the mixture is taken out of the vessel and
replaced with 3 litres water, then the ratio of
the milk to water in the vessel hecomes 2 : 1
and if '2y' litres of the mixture is taken out of
the vessel and replaced with 10 litres milk, then
the ratio of the milk to water in the vessel he-
comes 3 ; 1. Find the initial quantity of milk in
the vessel.

T S | RHEI: 7 13 7 ST A g8 S A = g
e s 3 'y ot A e e ST s s
e T e fem ST 2, B s g R e
2 1 g W # SR ats adq @ fagm w2y i e
e < € & 10 X g9 & T WReiE e = €,
T ad & I A 9§ oTuE 3 1 BT e | gee H gy
il W4 JIAT 1 741 TG

{A) 105 (B) 115

(C) 135 (D) 90

Vandana purchased two different kinds of alco-
hol/In the first'mixture, the ratio of alcohol to
wateris 3 : 4 and the second mixture itis 5: 6.
[fhe mixes, the two given mixtures and makes
a third mixture of 18 litres in which the ratio
of alcohol to water is 4 : 5, the quantity of the
first mixture (whose ratic is 3 : 4] that is re-
quired to make 18 litres of the third kind of

mixture is :
HEA T T TSI TE W I WAa! | et e H,
T A STeahige 1 ST 2 : 4 E SR g g 5+ 6 ¥
=g o g1 feu 74 Tasgor =1 faerdi €, 91 @i 18 offed =
T o & TS O © SToRTee 1 ST 4 ¢ 5 B W
¥ et g =it 7 I = (R o1 Te 3 0 4 ®) 9,
e whT o TS o 18 Tt S o oy strerees
(A) 4 (B) 8

(€)9 (D)7

Tea worth ¥ 126 per kg and T 135 per kg are
mixed with a third variety in the ratio 1: 1: 2.
I[f the mixture is worth ¥ 153 per kg. then the
price of the third variety per kg will be :

¥ 126 wfa foret siv T 135 wia forelt 1 = =1 et 7R
HEEHT 1: 122 %o H fooman am § | afg fago
T T 153 Tf firet &, @ Tk e st et e @
772

(A) T 169.50
{C)T175.50

(B)Z 170
(D) T 180
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Mother's sigTitTe « Bism

A vessel contains a mixture of milk and water
in the ratio of 14 : 3. Now, 25.5 litres of the
mixture is taken out from the vessel and 2.5
litres of water and 5 litres of milk is added to
the mixture. If the resultant mixture contains
20% water. What was the initial quantity of
mixture in the vessel before the replacement
? {in litres)

TF O | 14:3 F ST A g4 SR A 1 fram §) o,
T W 25.5 TR e foeeren s € ok faamH 2.5+
T TR S offex gy faemar s &) afe aitom fago §
20% T 3 | MR & get ada § Ty =it wfire A
A ot 7 (A= H )

{A) 51 (B)68

{C)75 {D) 85

A container contains mixture of milk and wa-
ter in which milk is 80%. 75% of mixture is
taken out and 10 L water is added, now the con-
centration of milk in the mixture is 60%. Find
the quantity of milk initially.

TH RER H g8 SR I fagm e ge 0%
fasron =1 75% Tt fomn =imar € i 10 wliet o faemn
S &, T Fage | g = |iwd 60% ¥ gEH g & A
Elc el

(A) 102 (B) 98

{C) 95 (D) 96

Ajar full of 60 litres syrup contains 40% honey.
A part of this syrup is replaced by anotlier con-
taining 19% of honey and now.ratio of honey
and other would be/13 : 37. Find the quantity
syrup is replaced.

60 T TEm & s IR #140% Tt €1 Foww | fewm
o T = e foan o R 19%9es € ofR o9 wes
ST =1 STTE 13 : 37 TN | T =t Seedt 7 A FL
{A) 40 (B)435

{C)35 (D) 80

A vessel contains 208 litres mixture of milk
and water mixed in the ratio 11 : 3 respectively
8x liters mixture is talken out of the vessel and
replace swith 3x - 4 litres water so that milk to
water in the vessel become 4 : 3. Find differ-
ence between the final quantities of milk and
water in the vessel.

T = | w1 208 T o & foem s 11:5 % W
H gy SR I ¥ | 8x ot fagw w1 arda A Frepre fomn s
% 3R T 3x - 4 T T A Faet fa=n < & @t a6y §
T SR I ST 4:3 B S A F g SR e B
sifes AT % S STaT I

(A) 24 (B) 30

{C) 20 (D) 22

148,

149,

150.

151.

Brass is an alloy of copper and zinc, Bronze is
an alloy of 79%, copper 3%, zinc and 18% tin. A
fused mass of Brass and Bronze is mixed and
this resultant alloy contains 70% copper. 18%
zinc and rest is tin. Find % of copper in Brass ?
i, e ST ST 1 G A 61§ 7o i, 79% die,
3% STEl A1 18% fam1 =1 fag wng % | diaer sik e fagy
w1 1 THemn s # ofi sw wfomt fag g | 70% ai,
18% STEAT ST ATRE 1 fe1 § | dra | v w1 Aawa {a
T ?

(A) 22 (B) 60

(C) 32 (D)62

Two jars having capacity of 6 and 10 liters re-
spectively are filled with mixture of milk and
water. In smaller jar 25% of mixture is milk
and in larger 25% of mixture iswater. The jars
are emptied into a 20L drum and remaining
capacity of drum is filled up withhwater. Find
the percentage of nille in the drum.

T 6 TR 10 T A G A & AR 5 SR T
from & W18 1 BRI H 25% fiam g4 ® s ae fivgm
25% T § | ST 20 SiedgA # et w1 e e E e
SH %! 9 GHET ®LAET H R fom ST ¥ 5H d gy ®
TR T ST |

(A)45 (B) 35

(C) 40 (D) 42

In what ratio must 4 items price I 150/kg, I
140/ kg and ¥ 155/ kg and ¥ 170/kg he mixed
so that the mixture costs ¥ 160 per kg ?

e ergTa ® T 150 WA FR., T140 Wi e e 55 i
fopan. sii 170 wfa forom. goa wet 4 3fgeq 1 fagw g
=few aik g =i =T 160 wfa few. 217
(Ayl1:1:2:3 Byr:1:2:4
Cy1:2:5:3 D)j1:4:2:1

In a mixture of water and milk the ratio of milk
and water is in the ratio of 5 : 1. What part of
this mixture is replaced with another mixture
in which milk and water are in the ratio of 3 :
2 so that ratio of water and milk in the result-
ing mixture becomes 1 : 3 ?

T iR gH F g # gy s et e e s L 1R 1T
s = form oF 7 oo TRem © oeen o fed 59 &R
A 3 ;2 % ST A § a1l I SR g o ST o
g H1:38 9

3 5
14 [)14

0 | b

1
() ©5 D
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152.

153.

Mother's Arithmetic » Mixture and Alligation

Direction : Find the correct relationship be-
tween the given quantities :

Tew o Tfvmt = ot et Tou == v e

A vinegar solution is made up of 21% of acetic
acid and rest from the water.

e T frgm 219 ufates tfae § o1 § o ot ot
i
Quantity A:

How many btres of water must be added into 39
hiters of vinegar solution to make it a 18% solution
of acetic acid in water ?

39 T 1w wic | Had @izt 9 o s wiEg
i ofaw faga 9 ofiafes gfag 18% ghsrd 7
Quantity B :

How many litres of water muist be added into 5.25
liters of vinegar solution to make it a 91% solution

of water in acetic acid ?

5.25 T R fager 7 fapa X w1 e o aife
fagor 5 a1 % A 91 %% o 7

(A) Quantity A > Quantity B

(B) Quantity A = Quantity B

(C) Quantity A < Quantity B

(D) Quantity A < Quantity B

A chemical solution A is made up from P and Q
by mixing in the ratio of 1:3. Another solution
B is made up from Q and R by mixing.in 'the
ratio of 2:1. Solution A and B are mixed together
and resultant is called product X. After that,
1188 units of Product X is mixed with Hydro-
gen. If the concentration of Q in final mixture
is 50%/then how much hydrogen is mixed in
Product X?

154.

155.

T AR A =1 ST et PeiR Q #1123 % STgom A
TR = W € | g T B St athie st Q oK
R0 2 : 1% o1 # et o o € | T3e A 8t
A B # 4 ¢ 5% ST70@ A e T o 677 4% 39 X
TFET T AT | THA WG 500G X F 1188 THE H THEOH F
ey THETRE o= T o | At Sifem e H erfAfim we
Q I TEd 50% ¥, 1 e X | PR e e T
a7

(A) 847 TR (B) 1694 =T
(C) 770 Tord (D) 484 T=TE

A mixture of 140 liter is prepared by mixing
wine and rum having alcohoel 42.5% and 25%
respectively in ratio 2 : 5. To dilute the mix-
ture by 2% what amount of water is used ?

140 witer =1 figo amga off ™ A o e e © fe
TITA I 42,5% 3T 25% T 212 6 7 U@ A T | fagw
H 29 WigeT = T fret wEt S e e e
(A) 10 liter (B) 12 liter

(C) 9 liter (D) 16 liter

In a mixture water and alcohol are in the ratio
of 74 3. 25/liters of the mixture is withdrawn
and it is replenished with the another mixture
iny which alcohol and water is in the ratio of 9 ;
11. Now if thie ratio of water and alcohol in the

resulting mixture is 3 : 2 then what was the
initial volume of the mixture ?

o TR H, I SR ST 7 ¢ 3 % A | § | g
1 25 TR Tk gR fAgw 9 aea fam sma & faad e
AR UM 9 ¢ 11 % g H 7 1 it fagon § we sii
STERTEE 3 : 2 B, 99 THA i TRIYe H= %41 o ?

(A) 32.5 liter (B) 37.5 liter

(C] 45 liters (D) 42 liters
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Answer Sheet

1. (B 2. (A —: 4. (&) 5 (A)

6. B 7. (A 8 B 9 ( 1j0.@® | ® 20D 31 4@ 5

11.(C) 12. (4) 13. B 14. (4 15 (p |& & 7.0B & @® 9 (@ 10

16. (B) 17. (C) 18. () 19. (&) 20. () |L11-© 12.(0 13. (B 14. (&) 15

21.(C) 22. (D) 23. (B 24. (B 25 (B |1 ® 17.(€) 18 (B 19. (B 20.

26. (D) 27. (n 28, (A) 29. O 30, (3 |20 22D 23. (4 24 (D) 25

31.(A) 32. (D) 33. (C) 34. (C) 35 (B) |26 27. (D) 28. (4  29. (B 30.

36. (5 87. () 88, (B 39. (3 4o, (3 |31-© 82 (B 383 (C 84 () 35

41.(B) 42. (B) 43. (B) 44. (C) 45. (A |36 (D) 37.(4) 38 (D)  39. (C) 40.

46. (C) 47. (C) 48. () 49. (D) 50. (¢) |- 42. D 43. B 44 (B 495

51. (A) 52. (B) 53. (A) 54. (B 55. (4 |[436-(C) 47.(B) 48 () 49, () 50.

56. (B) 57. (B) 58. (A) 59. (B) 60. (D) |91 52.(C) 53. (D) 54 (D) 55

61. (D) 62. B) 63. (C) 64. (B) 65 () |5 (D) 57. (B 58 (C) [ 59. (C), 60.

66. (C) 67. B) 68. B) 69. (D) 70. (B) |61.(4) 62. (4 63. (B) ' 64 ((A)  65.

71. (B) 72. (C) 73. (A) 74. (A) 75. (B) [©6.(4) 67. (D) 68. (A, 69.0 (B) 70.

76. B) 77. B) 78. (D) 79. (A) 80. (C) |[71.(C) 72. B) 73. (B) T4 (&) 75.

81.(B) 82. (D) 83. (C) 84. (D) 85 (C) |76:(C) 77. (C) 78/ (B) 79. (C)  80.

86. (A) 87. (C) 88. (C) 89. (A 90.(C) |B1.(D) 82. ()v'83. (A) 84. (C} .85.

91.(B) 92. (C) 93. (B) 94. (C) 95. (D) |86.(a) 87. (A) 88. (B) 89. (C) 90.

96. (C) 97. (A) 98. (A) 99. (A) 100. (B) |[91.(B)~92. (B) /93. (A) 94. (B) 95.

101.(B)102. (C) 103. (A) 104. (C) 105. (B) [96. (&) 97. (A 98.. (B) . 99. (A) 100.

106.(B)107. (D) 108. (C) 109. (C) 110.4(C) |101.(B)102. (D) 103. (D) 104. (C) 105.

111.(C)112. (B) 113. (C) 114. (B) 115, (B} | 106.(A)107. (B) 108. (D) 109. (D) 110.

116.(A)117. (B) 118. (B) 119. (A) 120. (4) | 111.A)112./(B) 113. (C) 114. (B) 115.

121.(4)122. (D) 123. (D) 124. (Bjp 125, (B) | 116.(4)117. (B) 118. (A) 119. (B) 120.

126.(D)127. (C) 128. (4) 129. {A) " 130. (4) | 121.(D)122. (A) 123. (A) 124. (C) 125.

131.(B)132. (4) 133. () 134./(B) 135. (B) |126.(4)127. (D) 128. (C) 129. (D) 130.

136.(4)137. () \138. (&) 139.01(D) 140. (4) }131.B)132. (A) 133. (B) 134. (B) 135.

::;-(D]”Z- (B) 143. (B)| 144.7(C) 145. () | 136,(C)137. (C) 138. (C) 139. (C) 140.
AC)147. (4) 148. () T 149. (A) L 180. (B) | 143 (a)142. (D) 143. (©) 144. (B) 145.

151.(8)152. (B) 158. (&) | 184. () 155. (&) | 145" 0147 D) 148, (C) 149, (A) 150.

156.(4) 187. (4) 158, \(&) '189.(A) 160. (8) |1ci'mica () 153, (D) 154, (A) 155,

161.(A)162. (D) 163. (D) 164. (D) 165. (B)

166.[3)167. (B) 168. (B) 169. (D) 170. (A)

171.(B)172. (B) 173. (B) 174. (A) 175. (A)

176.(3)177. (B) 178. (A) 179. (B) 180. (4)

181.(C)182. (B) 183. (C) 184. (D) 185. (C)

186.(8)187. (A) 188. (C) 189. (A) 190. (D)

191.(A)192. (A) 193. (C) 194. (D) 195. (B)

196.(D)197. (B) 198. (A) 199. (A) 200. (C)

201.(A)202. (C) 203. (D) 204. (D) 205. (A)

206.(B)207. (C) 208, (C) 209. (B) 210. (D)

211.(C)212. (D) 213. (D) 214. (C) 215. (A)

216.(A)217. (B) 218. (A) 219. (D) 220. (D)

221.(D)222. (B) 223. (C) 224. (A) 225. (D)

226.(D)227. (D) 228. (D) 229. (A) 230. (B)

231.(C)232. (C) 233. (A) 234. (D) 235. (B)

BEZCEE R R EEE80E2282C8E88:088
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